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3/7/23, 2:50 AM Response Sheet

KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate
Examination Name KVS PGT PHYSICS
Exam Date & Time 17-02-2023 03:00:00

Subject : GE_Q01-Q10_PGTPHY
Question ID:- 1

ANNIHILATE
The word similar in meaning to the above word is :
(1) Consume

(2) Hesitate

(3) Destroy

(4) Blame
Options:-

=1, Option ID :- 1,
= 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

TRANSIENT
The word opposite in meaning to the above word is :
(1) Perpetual

(2) Stiff

(3) Meaningless

(4) Noble
Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
=« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3
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Stop playing :
Identity the Part of Speech of the underlined word.
(1) Participle

2 Noun

23

(2)
(3) Conjunction
(4) Interjection

Options:-

«1, Option ID :- 9,

= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

I expect to get a prize.
Choose the option in which the above sentence has been changed into Passive Voice :
(1) A prize has been expected by him

(2) A prize is expected by me
(8) Itis expected by me to get a prize
(4) A prize is expected of me

Options:-

«1, Option ID :- 13,
= 2, Option ID :- 14,
= 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

Ram said “Hurrah ! I have scored a goal.”
Choose the option in which the above sentence has been changed into Indirect Narration.
(1) Ram told Hurrah that he had scored a goal.

(2) Ram exclaimed that he had scored a goal.
(3) Ram exclaimed that I have scored a goal.
(4) Ram exclaimed with joy that he had scored a goal.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
« 3, Option ID :- 19,
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= 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6

Rearrange the following jumbled words/phrases into a meaningful and grammatically correct
sentence.

(A) manners produced

(B) a favorable impression
(C) onme

(D) his courteous

(1) (&) (B) (©) (D)
(2 (D) (©) (B) (A)
(3) (D) @A) (B) (©)
4  (B) (C) (D) (A)

Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
= 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Identify the part of the following sentence that has an error in it :
Cannot one do what one likes of his own accord ?

(a) (b) (<) ()
(1) (a)
(2) (b
(3) ()
(4) (d)
Options:-

«1, Option ID :- 25,
= 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8
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I have been sleeping all night.
Identify the tense in the above sentence.

(1) Present Continuous
2

(2) Simple Present
(3) Present Perfect Continuous
(4)

4 Present Perfect

Options:-

«1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill in the blank in the given senfence by choosing the correct option out of the given ones.

I am happy him helping me.
(1) to; for

(2) with ; for

(3) for ; with

(4) on;on

Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Fill in the blank in the given sentence by choosing the correct option out of the given ones.
The patient is now free danger.

(1) with

(2) off

(3) from

(4) without
Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
=« 3, Option ID :- 39,
= 4, Option ID :- 40,

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=2204238031200... 4/139

@ Teachingninja.in



3/7/23, 2:50 AM Response Sheet
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PGTPHY

Question ID:- 11

e feu T TEriYr it uget At Sfea fasea w6 wmm witee-
7g 91 &6 ST o =ifed TR o0 3fea oin erfem H, g oir s1gw 8, e oir sife  faas 54 =81 5@
Terder =T BRI G &7 Sl o, 79 8H @ § Y- o7 @ foh 389 o 27=81 8H o § 7 A/ foels 5

=T FAT &, TH 91 T AMEU | THY §H Terd I, Sragf iR g | i fRmei & we § SysH
el A Swnifa ¥ o9 o €1 fogw o onam, erenfie & Sy & Wy Herd €1

o 4 areed & ¢

(1) &= &l faty &

(2) =AW S

(3) HE-TTerd T HR FLA
(4)  YU-3AYY I faEr &Il

Options:-

«1, Option ID :- 41,
= 2, Option ID :- 42,
=« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

et feu U Tere Rt ugeRt qaitie sfea fawen @ ww witee-

7E 91d &4 ST o =ifen T &0 St o erfea §, g oir s1gw 8, e oiv sife d faaes 4 =81 5@
e e B91d A1ed 59 S €, 99 59 = 9 UsA oW ¢ o s o o=l e w1 87 wuw faaes N
3731 ST €, BH Sl S JfeU | IHY B TMeld AW, ey o gEa 9 it femel % wa | 3yeH
el AHEfEE Swnifa § o9 90 €1 fadw #1 enam, eneafien F ey & WY ged ¢

ZH 1 1 TR, SHER 3N ©
(1) g™

(2 fre

(3) St

(4) faas

Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
= 3, Option ID :- 47,
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= 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

el feu 7T Tner Rt ugeRt waliferes st fawea s =wE whifea-
7E 91 &5 ST o =ifeT TR &0 3fea oin erfem H, g oir s1gw 8, g oiv sife  faaes 4 =81 5@
Terder T BHA G a7 Sl 6, 79 8H @ H Y- o7 @ foh 389 0 o1=81 8 o § 7 AN fads 5

3731 ST €, €6 Sl S IfeU | THY FH e AW, eyl o gEa 9 it frmel % v § 3yeH
Tt HFEE STifd ¥ o9 o § | faoes o 1w, STeafaRieT & STy o Wi e § |

HHfae 39fd ol g @ 2
(1) eI &1 rd

(2) ATV FEER
(3) T e
(4) AgY fa=m
Options:-

«1, Option ID :- 49,

= 2, Option ID :- 50,
=« 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

et feu U Tere Rt ugeRt qaitie sfea fawen @ ww witee-

7E 91 &6 ST oA =fey T 20 St oI erfea H, g oir sty 8, e oir sife  faaes 4 =81 5@
e e B9 A1ed 59 G €, 99 59 W 9 UBA o ¢ o Y o or=l e W 8 7 wuw faaes N
37T I &, BH ! Ol TIfe | THY B e 1, Sagul o gEd ¥ 9 fohaisi & el ¥ SysH
el AHETEE Sifa ¥ 99 96 €1 faaE = enam, efAie F 1y & Wiy ged ¢

HA-GT I QY-E1 Ferdt © 2
(1) 9o 3T 77w

(2) T &R s

(3) faee @i et
(4) 3fFa iR sgfaa

Options:-

«1, Option ID :- 53,
= 2, Option ID :- 54,
=« 3, Option ID :- 55,
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= 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

B e B A x| e [ e | e 1 o

Options:-

«1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

() e
(2) afTl
(3) W
(4) SIS
Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
» 3, Option ID :- 63,

»« 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

‘Tofa’ T U 1 IR €|
(1) §s &HH

(2) o WA

(3) TIEH THH

(4) HUYRT THH
Options:-
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«1, Option ID :- 65,
= 2, Option ID :- 66,
» 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18

(2) HDS
(3)
(4) ¥
Options:-

«1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

TEE e
(1) femar

(2) WEMA

(3) HEER

(4) Taamem
Options:-

«1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20
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“Terer 9IS § R a1’ 9 % Eifed o § wE §

(1) =0 S
(2) HYSH FHH
(3) SAYEH HRH
(4) Y HH

Options:-

=1, Option ID :- 77,
= 2, Option ID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PGTPHY

Question ID:- 21

Consider the following statements :

(a) The president of India is elected by an electoral college in accordance with the system of
proportional representation

(b) The electoral college consists of only the elected members of Lok Sabha, Rajya Sabha and
Vidhan Sabhas

Choose the correct answer from the codes below :

(1) only (a) is correct

(2) only (b)is correct

(3) both (a) and (b) are correct
(4) both (a) and (b) are wrong
Freferfad el T fa=r Hife

(a) wd & Tegafa = Fratem srafas sfaffea goredt & sqar o fat=s dea g fFn s @
(b) frefees Hea o Haa Aay, T AR faumamed & faffaa o= 2n €
e feU 7Y Fe ¥ HWEl I H1 FI i

(1) *ae (a) T &

(2) Fad (b) TE 7

(3) (a) R (b) ST, e &

(4) (a) AR (b) S TTeTd ¥
Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,
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= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

‘Mission Indradhanush’, a Government of India initiative relates to which of the following ?

(1) literacy programme

(2) platform to promote cultural diversity

(3) vaccination drive

(4) livlihood scheme for members of the LGBTQ community

T R 1 T sy’ fFreafafaa 5 4 fras e § wF e € 7

(1) &Rl FHEHH

(2) HiEklae fafauar = g *1 Hh

(3) FrepreRm HAfEH

(4) A STl 2T P HHEE o HEHl ok feru SArsiifeeR Asl

Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Consider the following statements :

(a) Warren Hastings was the first Governor-General in India to have faced an impeachment
trial in the British Parliament

(b)  Warren Hastings was acquited in the impeachment trial

Choose the correct answer from the codes below :

(1) only (a) is correct

(2) only (b)is correct
(3) both (a) and (b) are correct
(4) neither (a) nor (b) is correct
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Trefafed w9 W fa=gr #ifsg

(a) AN BfE fafew Hug § wafy@ fa=mo =1 JH 0 8l 91 = 98l TeHL S o
(b) AN s =1 werfvEm foramo 8 sl o o wm an)

e feu U e F HEl I H T i
(1) o (@) T8 &

(2) =hE (b) TR E

(3) (a) IR (b) ST =&l &

(4) (a) 3R (b) AT H F #E off ¥t 2

Options:-

«1, Option ID :- 89,
= 2, Option ID :- 90,
» 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Which of the following is not a quality of a non-metallic mineral called Mica ?
(1) It splits into thin sheets

(2) It has di-electric strength
(3) Itis not resistant to high voltage
(4) It has low power loss factor

Tr=fafan § 9§ #0195 e tuifcaes @fst i fasrom =& ¢ ?
(1) =% veel v § faufee & o &

(2) THH WY (SE-zeifEs) ulHE @ €

(3) ¥ = dlees o fa wfaredt & g 2

(4) 39 foe@ 1 @ w5 &l 2|

2

Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
« 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25
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Which of the following statements is incorrect about the European Union (EU) ?
(1) EU creates a single market for its member

(2) EU has been awarded the Nobel Peace Prize

(3) Britains exit from EU was through a Referendum

(4) Slovenia is the only EU member which has not adopted common currency of EU

T HE (3 ) F AR H B HFHE FE TG ¢ 2

(1) FUd= |1 319 el # fofg Tehel (hHH) SR S §

(2) 37 H Ao wifa R yeH T

(3) T51eA Wk STTA HUR o WISAH 9§ g H AR ge o)

(4) TerafEn, € g o UHEAH T 9 © S € g ot S (RTEA) i 1 T8 ST

Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
« 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Which of the following statement(s) is/are correct about manure ?

(a) It is an organic substance obtained from the decomposition of plant or animal wastes
(b) It improves soil texture

(c) It reduces the water retaining capacity of the soil

Choose the correct answer from the codes given below :

(1) Only (a) and (b) are correct

(2) Only (a) and (c) are correct
(3) Onlv (a) is corregt
(4)  Only (c) is correct

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=220423803120... 12/139

@ Teachingninja.in



3/7/23, 2:50 AM Response Sheet
R * 9] ¥ feAfates § § w9 98 wue 96 § 2

(a) &% U9 rerEn Y] UV O STUEEA § UTd U g Ui ®
(b) I T2l I a2 H guR *a @

(c) % fHZdl &1 ST ¥R &19al I FHH HIA B

T fou 52 6 § 9d s A
(1) (a) 3T (b) WET €

2) () @R (o) TS T

(3) A (a) TR B

(4) FHFA (o) HET ®
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27

Which constituent of petroleum is used for road paving/surfacing ?
(1) Bitumen

(2) Paraffin wax
(3) Naphthalene
(4) Coke

Yoy F FH 9 U2F F ' Tew oo e/ we fawn’ % fan wEn § e s g ?
(1) fagf

(2) HufmT S

(3) Ty

(4) %
Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28
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Who among the following players won the FIFA World Cup 2022 “Golden Boot” award ?
(1) Lionee Messi

(2) Kylian Mbappe

(3) Enzo Fernande

(4) Julian Alvarez

T gee Y, 2022 § ‘Tieed 92’ &1 (R fefatad § 9 fFae s ?

(1) st aedt
(2) =PnferE Hay
(3) T A
(4)  SIferH TeEns
Options:-

=1, Option ID :- 109,
= 2, Option ID :- 110,
« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar’, 2022 in Telugu
language ?

(1) Pallipattu Nagaraju

(2) Siddhardha Kalta

(3) Narra Praveen Reddy

(4)

4 Nanda Kishore

U] W H wifec STeRTeHT a1 IR, 2022 TR e | Sfar 2

(1) 9wAIveE AR

(2) Taged e

(3) AR W& LZE

(4) a1 fReiR
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,
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= 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30

Which of the following options correctly represent the aspect ratio ?
(1) Itis the ratio of length of the screen to the height of the screen
(2) Itis the ratio of height of the screen to the sum of the length and height of the screen
(3) Itis a feature that is used to adjust the screen brightness
(4)

4) Itis a feature that is used to adjust the screen color composition

frfafes § § = w fowey o197 Tee #1981 §9 9 f5fa F §7
(1) I8 T &1 SaE 3R BhF 1 S91E 1 9

(2) TETHA HI SEE R WA F e 3R SR & I 1 eruTd #
(3) ¥E WhH Fi it H gurEfed % w1 g 7

(4) IETHH HI gU G (FeR FHITIH) & THESH 29 Ygad e ¢

1
2

Options:-

«1, Option ID :- 117,
= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PGTPHY

Question ID:- 31

Choose the correct alternative that will continue the same pattern and replace the question
mark (?), in the given number of series.

3,5,10, 14, 17, 23, 24, ?

(1) 30
(2) 31
(3) 32
(4) 33
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TH wal fohey o1 939 &1 Sl T T §eq g@en 4 391 Y24 =l Sl W@ 3i) 99 fo (2) & =H o |
3,5, 10, 14, 17, 23, 24, ?

() 30
(2 31
(3) 32
(4) 33
Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

Six friends Kamla, Tanu, Priya, Deepa, Vimla and Rashmi are sitting on the ground in a hexagonal
shape facing towards the centre of the hexagon. Rashmi is not neighbour of Tanu and Vimla.
Deepa is not neighbour of Tanu and Priya. Vimla and Tanu are neighbours. Kamla is in the
middle of Tanu and Deepa. Deepa is in the left of Rashmi. Who is sitting opposite to Kamla ?

(1) Deepa
(2) Kamla
(3) Priya
(4) Tanu

T Tt e, 79, e, <o, fogan oii Tfem uF vEySeR § S % %5 #I SR U7 Fh 5HHE W
931 € 1 fem, 7 IR Tomen =t weEl A €1 <, o iR T w1 vl € famen oiR aq wSd €
e, 79 IR 1 F &= H 92 7 1, 10 % ar 6 92 2

HHAT o G A o3 &2
(1) @

(2) HHA

(3) foEn

(49 @7

Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125
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Question ID:- 33

If North becomes South-East, East becomes South-West, South becomes North-West and West
becomes North-East, then what will North-West becomes ?

(1) North
(2) East
(3) West
(4) South

afg ‘I’ o1 a1ed ‘gfego-ud’, (gd wh o7ed ‘sfr—ufvem’, <fa’ o erd  seR-afvEm ' oI ufvEm @ a1
‘Tw-gd " foun § ® o SR-ufvEm’ @ 21ef & A 2

(1) SW
2 T
(3) g
(4) wfEm
Options:-

«1, Option ID :- 129,
= 2, Option ID :- 130,
=« 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 2, Option ID : -130

Question ID:- 34

You are given a question and two statements numbered [ and Il each containing some information.
Decide which of the statements is/are sufficient to answer the question ?

Q: Who reached office late among Divya, Fatima, John, Piyush and Ashish ?
(I) : Divya and John reached together
(II) : Fatima and Ashish reached together

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient to answer the question.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient to answer the question.

(3) Both statements I and II together are necessary to answer the question.
(4) Both statements I and II together are not sufficient to answer the question.
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= T w9 femn e € fowes A FyE-1 & 11 fze e 2 ) 9 v § 39 e € ) TE foig
HITeu far = qUE FYF 99 o1 I <+ faw gaia 2/ 2

g: feom, wifem, S, 999 oI ity & 9 %5 «fteg 38 9 1§92

(I): fe=n SR S T 919 9 |

(I1) : RIferT 3IR AT TR WY UEH |

(1) 3Thel FYA-1 81 U9 1 SR o7 & o vafe § s/afeh s7hel S9m-11 W9A 1 398 & o fore qafe =@l
gl

(2) kel FHUA-I1 & Y9 ol IT S o o0 74w § Siaifer stehel Heq-1 99 =1 I <4 & forg v =8
2l

(3) UL S w11 ST a1 foeTs 99T o1 ST €9 & fan eeavae €

(4)  FA-1 3R wem-1L, S W fierRt off we =1 SR &1 & fore gafa =4 €

Options:-

«1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the following figure, circle represents strong men, square represents intelligent men and triangle
represents tall men.

Which number represents strong men who are also tall and intelligent ?

(1) 4
2 7
3 11
4) 12
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Treafafad sl |, ga g gEsl, a1 dfgam geu oir B o« gel 1 gfafafae s €

A H G 3T Ferme gEN %l g & S o SR gieHn of €

(1) 4
2 7
(3) 11
(4 12
Options:-

=1, Option ID :- 137,
=« 2, Option ID :- 138,
= 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Subject : CL_Q36-Q40_PGTPHY

Question ID:- 36

Which of the following devices converts human-understandable instructions and data into a form
that computers understand and process ?

(1) Printer

(2) Monitor

(3) Input devices
(4) Output devices

Frefafed § 4 99 Ot feary gHa-Tweery sFe ok SR &1 w09 w9 § ufefdd s & &9
FHIE FHH 3 WY L Geh 7

1) fuex

(2) MR

(3) Y feamH

(4) Reye feary
Options:-
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=1, Option ID :- 141,
= 2, Option ID :- 142,
« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

DVD stands for :

(1) Dual Video Disc

(2) Durable Video Disc
(3) Digital Versatile Disc
(4)

Discrete Versatile Disc

21 3 S (DVD) 1 319 7
(1)  Dual Video Disc

(2) Durable Video Disc
(3) Digital Versatile Disc
(4)

4 Discrete Versatile Disc

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

Which of the following is not an example of popular web based search engines ?
(1) Bing

(2) Edge
(3) Yahoo
(4) Google

frafafes § 9 #5991 U dsibg 39 onafia 99 5[ &1 3880 T8 8 2
(1) ST (Bing)

(2) TS (Edge)
(3) 4’ (Yahoo)
(4) 7T (Google)
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Options:-

«1, Option ID :- 149,

« 2, Option ID :- 150,

= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

This is a type of malwares that we download onto our smartphones, disguised as useful apps or
games, but usually take control of our smartphones to damage and steal our data.

(1) Virus
(2) Spam

(3) Trojan
(4) Phishing

7T T YR H Head § T 20 o1 WRwE § U W Uy A M % ' H SRAAE F € fhg 98
TR T T 301 362 &1 8, §9R ST i 96l S 9l € SR SH g0 o

(1) ERRH (Virus)

(2) ¥ (Spam)

(3) 29 (Trojan)

(4) T (Phishing)

Options:-

«1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

Which of the following can’t be a valid email id ?
(1) An email id having multiple ‘@

(2) An email id having multiple °." (dots)

(3) An email id having multiple *_" (underscore)
(4) An email id having multiple digits (0-9)
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Frafafen § & #m @ wF fafm -9 o 21 72 @ wwd 22
(1) An email id having multiple ‘@’

(2) An email id having multiple *." (dots)

(3) An email id having multiple * ' (underscore)
(4) An email id having multiple digits (0-9)

Options:-

=1, Option ID :- 157,
« 2, Option ID :- 158,
= 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTPHY
Question ID:- 41

What is the role of PTA in school ?
(1) Regular monitoring of student activity

(2) Act as bridge between school and community
(3) To support school principal
(4) To guide the children in co-curricular activities

Toemem # sifusmass-faeres w9 &1 @ i &2
(1) fornem % Fdean w1 fafaa s
(2) Toerer™ AR 9HEE & WeA Hg H FHE HE
(3) Teremer = yr=md w1 HedhT S&H

(4) HE-—diST=Al FEHeTdl § Setehl o HEIeH

2

Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

What is the best way to enhance learning ?
(1) by good communication

(2) through A.V Aids

(3) through activity method

(4

use ICT tools and digital game based method
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siferm # erfigfg e o1 gatad alie F R ?

(1) 309 §EWY & q1ead | A

(2) FA-TF SUHLU & HILAH H AfeH

(3) e Ui & e

(4) o © & R fesiiea 1w snafia ugfa 4 eifermm

2

Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

What is the purpose of “assessment of learning’ ?
(1) To measure amount of learning

(2) To judge the potential of the child in subjects
(3) Provide evidence of learning and gaps to improve
(4) To promote to next class

‘ saferTe % STeRe | o TR € 2

(1)  AferTs = GfeEToT =61 99 |

(2) Tafw= fawdi § srerss &1 &mdl & 98y 5 FHoE A1)

(3) sIfermm iR sEfEm (F9) 1 yHw WEd A1 A1 a1ers § IR 31 Heh |
(4)  STTEI e H UHIE HET | (ST e o foe U=1d )

Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44
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What is the significance of CCE in classroom ?

(1) The children will be evaluated in scholastic subjects

(2) Evaluation covers all parametres to measure personality development
(3) Evaluation of scholastic and co-scholastic areas
(4)

4 Examination are flexible

Hefl § T 3T =9 gedieA (9 W E) w1 0 veed © 2

(1) @erehi o 31593 & fawai &1 g 2 |

(2) HeAd H i fasm & 7roe ge gt amde e €
(3) AU iR Te-S1oEH &3 1 Yo

(4) T SAEER € |

Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,
« 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

Which one of the following is visual instrumental material ?
(1) Text books

(2) Charts

(3) Calculators

(4) Black Board

Tr=fafaa § 4 7 ovmam FifaE (Ted) 9 & 2

(1) HISIgEH

(2) =@

(3) Sherheret

(4) ¥HUZ
Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
« 3, Option ID :- 179,
= 4, Option ID :- 180,
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Answer Given:- 2, Option ID : -178

Question ID:- 46

What do you mean by experimental learning ?
(1) Writing new information

(2) Learning by doing

(3) Act of memorizing
(4)

4)  Frequent drilling

YR SIfeTH § ST9ehT %R ey €2

(1) = g feaa
(2) I % HEegH g A
(3) TR H H wEH
(4) @SR 1Y
Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47

Which one of the following factor affects learning ?
(1) Teacher’s personality
(2) Principal’s dynamism
(3) School ambience
(4)

4) Peer pressure

Freifera | | forgd stferm yenfaa g € 2
(1) S AR o Al

(2) W =T Afaeier

(3) faermer @ uf@w (AEe)

(4) GEehaf g
Options:-

«1, Option ID :- 185,
=« 2, Option ID :- 186,
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= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

The following would form better learning space in school :
(1) Class room

(2) Library
(3) Digital Lab
(4) Sports Field

Freifra ¥ faamera 9 sea siferm afiEwn =6t 9o &

(1) el
(2) YEHEE
(3) fesiem o=
(4) e H HEA
Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Cognitive learning is :

(1) Active style of motor muscles
(2) Reflection of emotional feelings
(3) Maximizing Brain’s activity

(4) Enhancing internet in subject

Wﬂﬁlﬂq% :

(1) = il (e v8eq) i |fwa e

(2) wiafiER vyEsil 1 giafds

(3) W % HAHE H1 Afrhad W T F@l
(4) fowa & dafam evie Haea

Options:-
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«1, Option ID :- 193,
= 2, Option ID :- 194,
« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Why school is a miniature society ?

(1) Itis a group of diversified people.

(2) Particular group of humanity with shared customs.
(3) The students represents cross section of society.
(4)

4) Hetrogenous group of students.

el 4 SR G 87

(1) == fafasamel geyfi & @i = 998 81

(2) TR W H ATl @ w1 fafire whE ¥

(3) Taenef wors % fafv= ot = gfaffae & €1
(4) Tonfef=i o foom we €1

Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

The qualitative change in personality of child refers to :
(1) Growth

(2) Invisible change

(3) Maturation
(4)

4 Visible Change
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I & AT § e qian #1 aeed et § § fRad # 2

(1) fospm

(2) o AREd

(3) OfoErEE

(4) TYIHE qiEdA
Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

What is the role of development in child psychology ?
(1) It helps in fixing goals.

(2) It determines readiness for learning.

(3) It determines behavior.
(4)

4 It focuses on memory.

I TAIaeE o s s s yfe § 7

(1) =98 @ex Frafoor § werra faed T

(2) O sifem % fou aeowar stawnRa 2t §
(3) =9 HaeR fAwif g 21

(4) =HH wfd W g fezn S g

Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

The socio-emotional learning is the process of
(1) Self-discipline

(2) Development of linguistic ability

(3) Self development

(4) Developing self-control
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qrafsr-giafie sfermm fa=ifra o 9 forge ywg 22

(1) SATH-SAJEA

(2)  WTSRI ArEE fasrE

(3) eAeH-fasr™

(4)  sTreR-fraEr fasRfad e
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

Which psychological factor helps learning ?

(1) Age

(2) Sleep

(3) Motivation

(4) Internet

FIF | HASE FR ST § e 87
() g

(2) frmn

(3)  srfemo

(4) R

Options:-

«1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55
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Regular meeting of parents and social workers in school would ensure :
(1) Home school continuity.

(2) Proper understanding of the teachers.

(3) Reducing communication gap between students and teachers.

(4)

4 Co-operation to enhance school resources.

Toemem § aifqumaesi iR gmfse wdst #f Fafta e @ %0 gffea gm 82
(1) B-foeme™ %I |

(2) AR = Sfed qHE |

(3) foenfefdi ok e7eamgehi & HeA WUYWO STAUE i HH HE|
(4) Towre™ =1 ddyE ggm H 9 |

Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PGTPHY

Question ID:- 56

Do the ICT tools in classroom threaten the teacher’s role ?

(1) Notat all, if teacher is updated in ICT skills.

(2) Yes, certainly it poses threat.

(3) Makes no difference for teachers.

(4) Teacher can use traditional methods of teaching.

1 st | I R GER UrEifTe % STl US89 W AT i offe W & St € 2
(1) faepa 78, afe sreame 1 ARHZ STTHER B H ST F9 8|

(2) @, 399 fafvas w9 9 s = aglaen g 2

(3) TEH EATH] W HIE YUE Tel T B

(4) ALATIF ALY Tl IRUR i 1 3T X Hehd 2|

2

Options:-

«1, Option ID :- 221,
= 2, Option ID :- 222,
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= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57
How students” feedback on teaching would help the teachers ?

1) It would certainly refine quality of teaching.

3

(1)

(2) Students would be biased.

(3) Teachers does not require feedback from the children.
(4)

4) It may have negative impact on teaching.

HAAYA = 9R H T 9 ure wizsds® A & (U 9 ywR 9 ann ?
(1) =99 faftaa dR ® s1erem &6t e afessa 2ot

(2)  fommeff gamrd =4

(3) SISATIRI I SR H THIEoH T i ATETHA 7ol Gl 2 |

(4) SHH SFEATA W ThRIHE JHE T Hehall 2 |

2

Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

What is major challenge in ICT applications in classroom in rural sector ?

(1) Lack of furniture in lab

(2) Lack of trained teachers
(3) Lack of power and internet
(4) Lack of motivation
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e &5 H ey SISt SFYEnT Y T A o § 2

(1) WHFTSIE | = 1 S19E

(2) wferfar—steATaehi =i H

(3) Tosiel iR Seti2 =1 I9E

(4) AFHUT HT Y=

Options:-

=1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

What is the role of lesson plan in classroom ?
1) Meets the administrative requirement

(

(2) The teachers cannot deviate schedule
( It helps achieving learning outcomes
(

It assists the teachers to evaluate the learner

eI H WIS ANSHT i P TR §2

(1) =94 yemEfer e 94 26l g

(2) e fuifa Sege (eagen) ¥ faafad == & v §)

(3) TEH wAfrm uftom e e § werra et ®

(4) Y ATH F AFTIHRA F AT F § eI (e 7

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60
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A student feeds dogs in school during recess period, comes under :
Designed curriculum

Moral education

Hidden curriculum

Overt curriculum

Tarenedl weaa sge (faw difme) § F4 1 faam 8 98 freifed 3 8 fraent 9o | s g ?
(1)  sifvepfead gy

) faer foen

3) Tourgsn (y=s—) UigushH

)

4) Tog9 TRy

Options:-
=1, Option ID :- 237,

2

(
(
(

« 2, Option ID :- 238,
= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61

The famous example of classical conditioning of Ivan pavlov on dog refers to :

(1) Connectivism
(2) Behaviorism

(3) Cognitivism

(4) Constructivism

T e gRI YA W TR T et (AEE) SEer H UiHs 3em E

(1) HEHER

(2) =AFERARE

(3) HAARHEHAER

(4) THAER
Options:-

=1, Option ID :- 241,
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= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Response Sheet

Question ID:- 62

What is the basic principle of constructivism ?

(1) Knowledge is built on existing knowledge
(2) Social learning

(3) Contextual learning

(4) Motivational learning

TR © 9 T=AETE =1 g fasia @ ' 2
(1) I =1 Fafor foemm 97 W 8 g

(2) Te=me | AAfem
(3) Hewird e

(4) o Ffey
Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

The annual instructional plan would ensure :
(1) Effective classroom fransaction
(2) Wholesome teaching
(3) Accomplishment of learning outcomes
(4)

Preparation of unit plans effectively
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it e s | Freifera § 9 o gife=a gm ?

(1) Gt el Heaaar

(2) Tedel s

(3)  =ferTy oftomy =i wifE

(4) M wH I YHET &1 H TR HE

2

Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

The following is the tool to achieve intended learning outcomes :
(1) Annual plan

(2)  Unit plan

(3) Lesson plan

(4) Audio visual Aids

(1) =R Frse

(2) I @@=

(3) U1 ASHI

( ) A g IHRI
Options:-

=1, Option ID :- 253,

= 2, Option ID :- 254,

= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65
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The diagnistic assessment aims at ;

1) finding out the strength of the child.
) remediating learning,

3) knowing level of learning.
)

measuring emotions of the child.

eI T 39T

(1) @k o ool 95 2l 9al oAl

(2) Al H g7: SHAY L HE GHIEE
(3)  SAMETH 1 X S

(4) STAF T WEAR H HOH

Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
« 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 66

The open style of questions in exam would test :
(1) Rote memory

(2) Applied aspects
(3) Critical thinking
(4)

Scientific temper

wien 5 g9l =i Ha Uelt i 5 H fereer adieror grm 2
(1) =S FTh A HT

(2) AT W&

(3) A e

(4) o g (gfesnm)

Options:-
=1, Option ID :- 261,
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= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

The main aim of classroom observation is :

(1) to get feedback on teachers from students.

(2) to get introspection by teachers.

(3) to fulfil administrative requirements.

(4) to assess teachers ability.

HE Y& (TR ) F G I ©

(1) feenfefai § syl & @it § wigas (wfagfie) e s
(2) HEATYRT BRI SATHE0] AT

(3) YR STUEMEA] YU HEAT

(4) STEATIHRI T AR T HEAHA
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68

Collaborative group work is an example of

(1) Divergent thinking
(2) Activity based learning
(3) Constructive Learning
(4) Cognitive learning
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TRIiTargE drdfes & f=ifea § | fraes S| g 2

(1) dfger fHa

(2) HEHANY IMHE AT
(3) TEACHE AT

(4) HaTeHE A
Options:-

=1, Option ID :- 269,
= 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69

The practical experience of the child would enhance :
(1) Learning
(2) Thinking
(3) Feeling
(4)

Interest

aTeTe o U s9d § g 8§ § feaet sifyafe @rft 2

(1) =afms
(2) faa@=
(3) SJHd
(4) el
Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70
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What is inclusive education ?

(1) Special education for disabled

(2) Education to all the children irrespective of sex, caste, creed and disability
(3) Women education
(4)

Integrated education

Tt fven e 2

(1) Te=aim =19 = o fovm fosn

(2) Tedw, sifa, 9o SR o = e T it sl & forg foen
(3) wfeene = foan

(4) THIE foren

Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTPHY
Question ID:- 71

Dyslexia refers to :

(1) Inability to write
(2) Inability to learn
(3) Inability to speak
(4) Inability to see

(1) oEe T
(2) AferTs sTarea
(3) ETE SH&HI
(4) gfe e

2

Options:-
=1, Option ID :- 281,
= 2, Option ID :- 282,
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= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

(1) Non-cooperation of parents

(2) Defective curriculum
(3) Lack of professional counsellors
(4) Inefficient teachers

S BSl ATkl % HeqaRR A H wel gAld! =it 5 § 1€ ?

(1)  fqreehi § w&ar T8 oo
(2) <y greEE
(3) AT TR ST
(4) FHH TATTH

Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

What is the major challenge in society dealing with stubborn children with restlessness ?

Question ID:- 73

Low vision of child comes under :
(1) Intellectual Disability

(2) Physical Deformity

(3) Mental Disability

(4) Sensory Disability

wTereh 1 31ey gfte’ Freifera | fra Soft | ot €2

(1) difges fesamma

(2) i fapfd

(3) HFATHR f=ATe

(4) Hagl fg=amma
Options:-
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=1, Option ID :- 289,
= 2, Option ID :- 290,
« 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

‘Mood swinging’ of the child indicates :
(1) Low socialisation

(2) physical ailment
(3) Mental health issue
(4)

Emotional issue

eI i TR ° weEfas uiads’ it 9 9 59 i s g2

(1) =7 HHESIEHT

(2) ORI BRI

(3) HHIHh T i THEA

(4)  HeTHE: HHEAI
Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

Which type of leadership is suited to teachers improvement ?
(1) Instructional leadership

(2) Administrative leadership

(3) Bureaucratic leadership

(4)

Management leadership
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FATIE H GURA & forg feifera § ¥ f7y R &1 99 399 € 7
(1) ST T

(2)

(3) IR T
(4)

Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
» 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

The quality of great school leader should be :
(1) Integrity

(2) Honesty
(3) Critical thinking
(4) Punctuality

M e A 8 Freifed § 9 9 T g e ?
(1) HeAfsa]

(2) SHASR
(3) HHIEAEAEF fHa
(4) FHARSA

Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

What should be the important principle of school organisation ?
(1) Democratic principle
(2) Principle of flexibility
(3) Child centered principle
(4)

Teacher centered principle
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Torgzmer dwe =1 wequl fagia @ g =nfau 2

(1) Sditre gl

(2) @A 1 fagia
(3) @ersh Hiwd fasgid
(4) A9 hf=d s

Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78

Organisation of social service league by school helps :
(I) Bringing community closer to school

(2) Augmentation of school resources

(3) Maintaining cordial relationship with society
(4)

4 Children to develop social values

Thdl R HTe "idd i = s1RieE Ty St o wereasy i | | forad v faed € 2
(1) e =i faae™ % &t sifus @ am

(2) Tomnea o el 1 HaHe

(3) H H HereyYl Heie s W

(4) @Rl H HrEifsie god faskfad
Options:-

=1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79
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Which committee/commission recommended universalisation of free education for age group
6-14 years ?

(1) Kothari commission

(2) Sadler committee
(3) Sargent committee
(4) Hartog committee

Frifera § & fore Afafa/eTER 3 6§ 14 99 T o ST o [0 .9 e & g it e
i i ?

(1) hISH T

(2) e 9iEfd

(3) @Sz =wiEfd

(4) @R g

Options:-

«1, Option ID :- 313,

= 2, Option ID :- 314,

= 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

The revised pattern of school education is :
(1) 8+2+2+3

(2) 5+3+3+4

(3) 10+2+3

(4) 5+5+3+2

el foen @ geifua wfaed (Ted) 2 -
(1) 8+2+2+3

(2) 5+3+3+4

(3) 10+2+3

(4) 5+5+3+2

Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
= 3, Option ID :- 319,
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= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : PHY_Q81-Q180_PGTPHY

Question ID:- 81

If energy (E), velocity (v) and force (F) are taken as fundamental quantities then the dimensions of

mass 1s :

(1) [Ev?
(2 [Ev7]
(3 [Ev—3
(4 [Ev?

Ife 911 (E), 7 (v) T 9 (F) %1 0 9 foan S, 96 26999 1 [am e

(1) [Fv7?
(2 [Fv]
(3 [Ev—7
4 [EvY
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

The number of significant figures in 6.00023 kg is :

(1) 3
(2) 5
(3) 6
(4 4
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6.00023 kg T W2 375 & TEA T

(1) 3
(2) 3
(3) 6
(4 4
Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

A viscous liquid of density p is flowing in a tube of radius r with a speed v. The Reynold's number
Ris

p= 5

prvV

k is a dimensionless constant. Xis :

(1)  Viscosity

(2) Surface tension

(3) Acceleration due to gravity

(

4)  Pressure

T p T &1 99F 2d fordlt ¢ B &1 e B 9 v A vaifed & Wi &) Wies G= R, €

R= XX
prv
=&l k T fommdm fomis €1 X % -
(1) &
(2) Y%SdTH
(3) TEETE &
(4) TH
Options:-

=1, Option ID :- 329,
« 2, Option ID :- 330,
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= 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

A point object is moving with uniform speed v in a circle of radius R. Let n be the frequency of its
motion. The acceleration of the object is :

(1)  =2n2R

(2) 2w2n2R

(3) 4m’n’R
2

(4) [%"JP

%1 fargfera fave e R & fordt g9 H woha™ =met v 9 Tifaer 81 3fs g9et 1fa &1 smafdn 2, 9139
faue = =R

(1) w2n?R
(2) 2w2n2R
(3) 4mw’n’R
2
™V
- —| R
W (=)
Options:-

«1, Option ID :- 333,
= 2, Option ID :- 334,
= 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85
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The position x (in meter) of four objects A, B, C and D are given by following equations where time
t is in second :

(A) x=-5.0+2.0 2
(B) x=-5.0+20t
(Q x=-20¢

(D) x=2.0 t+4.0

Which of them is moving with a uniform speed ?

(D (A)
(2 (B)
3 ©
(4) (D)

=R faugi A, B, C 3R D =i feafq « (e #) = fou o weiiesoi grn <ot =it §1 el ¢« §eve H g
(A) x=-5.0+2.0 t

(B) x=-5.0+2.0t

(C) x=-20¢

(D) x=2.0 t+4.0 t2

T | HA T fIvg uF wEE = ¥ foeE €2

(1) (A)
(2 (B)
3 ©
4) (D)
Options:-

«1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=220423803120... 48/139

@ Teachingninja.in



3/7/23, 2:50 AM Response Sheet

The velocity v(in m/s) of an object changes with time t (in second) as
v=5.0+0.5 t?

The average acceleration of the object for the duration t=1.0s to t=4.0sis:

(1) 1.5 m/s?

(2) 25 m/s?

(3) 3.0 m/s?

(4) 3.5 m/s>

e favg 1 a7 v (m/s ®) T99 t (FF0E §) & 1y 919 U s/7ar ufEfd@ 2 @
v=>5.0+0.5 t

T A t=1.0s F t=4.0 s H 39 favg &1 A9d =0 ¢ :

(1) 1.5 m/s?

(2) 25 m/s?

(3) 3.0 m/s?

(4) 3.5 m/s>

Options:-

=1, Option ID :- 341,

« 2, Option ID :- 342,

« 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87
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— —
Consider two vectors A and B as given below

—2 N A
A=3i+]
— A I
B=i+3]

N A
where i and j are unit vectors along x-axis and y-axis respectively.

— —
The angle between vectors A and B, when their tails coincide is :

o o

3 fam e @ W A SR B W faER SR

A
1

>l
W

"
+

2
i

= 4
B=i+3]

e 7SR e vt S s srfen wH wlew ¥
A SR B o w1 a9 ), 5 5 T T E FnE o
(1) cos ! [i)

J5

(2) cos ! [g]
(3) cos ! (%]

o w3
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Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

—
A small ball is projected from (0 m, 0 m) in x-y plane at t=0 s. Its velocity v (inm/s) at t=2.0 s is

— AN M Fa T
=407 +10]- Here i and j are unit vectors along x-axis and y-axis respectively. The time of

flight of the ball is (take g =10 m/s%).

(1) 30s
(2) 45s
(3) 60s
4 75s

foprelt D1t 78 &l x-y T8 § I99 t=0s T (0 m, 0.m) ¥ F&fa a0 720 8 9 ¥ t=2.0 s T a7
v(m/sHTIFRE v =407 +10? R ? FHI: -1 SR y-2781 % SFIfew Usiw wiew )
39 1ig 1 g &1d 8 : (g=10 m /> TifIQ)

(1) 30s
(2) 45s
(3) 6.0s
(4) 75s

Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
= 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89
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Rashmi is cycling on a level circular road of radius 12.5 m. The coefficient of static friction between
the tyres and the road is 0.2. The maximum speed with which she can cycle without slipping is

(take g=10 m/s?) :
(1) 1.0m/s
(2) 3.0m/s
(3) 50m/s
(4) 7.0m/s

9 12.5 m 5N % U 99dd a9 AR W AEfEd 961 @ 81 TSh iR 2 o drg wifiaes = qons
0.2 ¥1 a8 sAfueman e foes 92 fam freer SEfea =en Tl & #1 8 : (g=10 m/s? wifsm)

(1) 1.0m/s

(2) 3.0m/s

(3) 50m/s

(4) 7.0m/s
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
« 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

A boy (mass 55 kg) stands on a weighing scale in a lift which is moving downwards with a uniform
acceleration of 4 m/s2 The reading on the weighing scale will be (take g=10 m/s?) :

(1) 16,5 kg

(2) 3Bkg
(3) 385 kg
(4) 77kg

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=220423803120... 52/139

@ Teachingninja.in



3/7/23, 2:50 AM Response Sheet

T TSH (T 55 kg) 4 m/s? F THTTH @0 § =1 1 IR 7faam e fage § Sra-ardt w w1 2
die-HTdl 1 Y&l 8 :( g=10 m/s> WfeQ)

(1) 165 kg
(2) 33 kg
(3) 38.5 kg
4) 77 kg
Options:-

«1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

— o
Two forces F, and F,, given by
— A = = i
F, = (20N)i and ) = (15N)j
act simultaneously on an object of mass 10 kg. Here i and i; are unit vectors along x-axis and

y-axis respectively. The acceleration of the object has a magnitude and it makes an
angle of with the x-axis.

)

(1) 25m/s%, tan—‘l[ﬂ

(2) 5.0 m/s? tan—!

W |

)
)
]

a1 (3
(3) 2.5 m/s? tan 1[
(

SSH =N

(4) 5.0 m/s2, tan~!
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10 kg ZMH ¥ forelt favs = wwmg FRFA A 9 |, ST E, 56 WHR E-

—

AL — A
E, = 20N)i ¥ME, = 15N)j

e i i ] o vos @R oo ¥ srfew whE Hhew €1 fve & o o wfer s e g oot
W I T 0] S HH HE: T

(3
(1) 2.5 m/s? tem*[ﬂ

3
(2) 5.0 m/s2, tan~! 4

W | =

J
)
)

3
(3) 2.5 m/s> tan~ J[
[

ST TN

(4) 5.0 m/s% tan~!

Options:-

«1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92

A ball of mass 0.30 kg strikes a rigid wall with a speed of 6.0 m/s and is reflected with the same
speed, as shown in the figure. The magnitude of impulse imparted to the ball by the wall is :

(1) o
(2) 0.9 Ns
(3) 1.8 Ns
(4) 3.6 Ns
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0.30 kg ZoA9H % HT 118 6.0 m/s 1 =1 U 3@ H ST &TER fFdl 28 Sfar § 2@ & R 991 =5
T qEfdd & Sl § 1 <9 g1 g w1 Wer T Ty e & afror 2

(1) 0

(2) 0.9 Ns

(3) 1.8 Ns

(4) 3.6 Ns
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Four boxes A(5.0 kg), B(3.0 kg), C(2.0 kg) and D(1.0 kg) lie on a smooth horizontal surface and are
connected by light strings, as shown in figure. A force of 44 N is applied horizontally on Box D as
shown.

T Ty @
A I B C - D > 44 N
L L L
P . [T ).
T,, T, and T, are tensions as marked. The ratio = is
3
7 g
G-
5 2
@ 3
5 3
@ =
" 4
@ 3
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@ ¥ AT SATER IR EE A (5.0 kg) , B (3.0 kg) , C (2.0 kg) 3R D (1.0 kg) %l T THL H geaht SA]
BRI g fordt &ifast wevRfed 98 o T@n T B S SR de D W Afasia: 44 N 99 STRIfa R

TN ¥ SifeRd oY SIER T, T, @R T, S H @ § 1 ergue [E] &

I3
T: T T
!A'!1!|B 2 [cl——Pp > 44 N
L L L L L L L
1 1
M
n 2
('—) 5
4 3
@ 3
n 2
@ 5
Options:-

«1, Option ID :- 369,
= 2, Option ID :- 370,
=« 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94

A box of mass 0.80 kg is pressed against a wall by a force of 20 N, as shown in figure. The coefficient
of static friction between the wall and the box is 0.5. The magnitude of net force exerted by the
wall on the box is close to (take g =10 m/s?) :

Yy

g L

() 80N

(2) 120N
(3) 200N
(4) 215N
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@ H T STER 0.80 kg ZoA9M o fordl e =1 20 N o1el gRI 191 i SR Sa 1 T € | S1ER 3R
S ok di= wfae FH i 0.5 1 SaR g W W OSRINd 96 1 A2 i @ o eean)
(g=10 m/s2 HfST)

y

g L

(1) 80N
(2) 120N
(3) 200N
(4) 215N
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

A boy lifts a ball of 250 g vertically by a distance of 1.5 m. What is the amount of work done by the
boy ? (Take g=10 m/s?)

(1) Zero

(2) +3.75 Nm

(3) 0.38 Nm

(4) —3.75 Nm

Ts ASHI fRHT 250 g 1 7% 1 1.5 m SR IBM@ 8 | 1SH g0 6] 7701 &1 #4182 (=10 m/s2 &)

() A

(2) +3.75 Nm
(3) 0.38 Nm
(4) —3.75 Nm
Options:-
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=1, Option ID :- 377,
= 2, Option ID :- 378,
« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

The figures below show the positions of pointers attached with the identical springs loaded with
different masses :

40|cm

60|cm 10
kg kg

h 4

20
kg

What is the value of x ? (g=10 m/s?)

(1) 5.0kg
(2) 6.7 kg
(3) 8.0kg
(4) 150 kg
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L |0 — |0
— |0
40lem I 30(cm
» 60|cm 10 kg
kg

20

kg
x 1 HH # B ? (g =10 m/s?)
(1) 5.0kg
(2) 6.7kg
(3) 8.0kg
(4) 15.0 kg
Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

= fed 13 fetl | <t we s e, S fe fafvs gerari | wifta €, 9 3¢ frereni =it feafai =it <o 2|

Question ID:- 97

(take g=10 m/s?)

B
Object
A (20g)
(1) 10 Nm
(2) 20 Nm
(3) 50 Nm
(4) 100 Nm

A person applies a force to move a 20 g object in a vertical plane from position A to position B
along a circular track of radius 50 m, as shown. What is the amount of work done by the person ?
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TR SR, fohelt 20 g &1 3% I UF 50 m 550 % 39 99 % orfey freh sl aa § ufa w09 %
fo w = s 9 o &1 =t g T e e e €2 (=10 m/s? )

B
Object

A (20 g)
(1) 10 Nm
(2) 20 Nm
(3) 50 Nm
(4) 100 Nm
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

-3 N Fa) M M
A particle is moving in x-y plane under a variable force F = - 7 (3;;:' + 7;’)N. Here i and jare

unit vectors along x and y axes respectively. The particle is first taken from the origin along positive
x-axis to the point (5, 0) m and then parallel to the y-axis to the point (5, 5) m. What is total work
done by the force ?

(1) +1750 Nm

(2) —1000 Nm
(3) +770 Nm
(4) —770 Nm
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Wuﬁaﬁw?:—7(3ﬁ+7’})w ERE R cy PR SRR TR ORI A
x-3TR y-3efl & SFfe T wfew €1 39 Ol e x-398 W ge-faig 9 foig (5, 0) m W SR ewwE
y-3181 & GHicR fog (5, 5) m T @R ST 81 96 g1 foR T e e 9 e 2

(1) +1750 Nm

2) —1000 Nm

3)  +770 Nm

(
(
(4) —770 Nm
Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

A motor delivers a minimum power of 28 kW to a lift moving upwards with a uniform speed of

2.0 m/s. The frictional force opposing the motion is 2000 N. If the mass of empty lift cabin is
800 kg, then what is the amount of load that this lift can carry upwards ?

(Acceleration due to gravity =10 m/ 5%).

(1) 1600 kg
(2) 800 kg
(3) 400 kg
(4) 200 kg

TR &I 3R 2.0 m/s I T GAM = H TMd T arell Rt foawe 1 ue Hiet 28 kW &l =304 9t 9e8H
Al T Tfa % foeg =i ae 2000 N 8 | 4fe @l fade 1 §599H 800 kg @ @1 #8 fawe fha v s
Sl SN W S el § 2 (YT @9 =10 m/s2)

(1) 1600 kg
(2) 800 kg
(3) 400 kg
(4) 200 kg
Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,
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= 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

A ball of mass 200 g is at rest at t=0. An external force F varying with time as shown in Fig is

applied on ball. The speeds of ball at (i) t=0.2 s, (ii) 0.4 s and (iii) 0.6 s are (i) v (i) v, and (jii) v,

V2 3
respectively. E and V_z are :

AF(N)
0.21--
01t/
0 >t (s)
204 /0.
_011 OZOI/OG
—0.24-----
Vo V3 =
(1) ¥ ¥y -
Vo _ 4. V3 _ e
Va2 V3
(3) Vi v
Vo V3
2 =1, 3 =7
A Vi ¥
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¥2
(1) o
Va2
@
V2
6 -
V2
@
Options:-

i
=
18]

Il
=
w

«1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Response Sheet

200 g ZETI I TF g t=0 T fammren #§ §1 iz R fom § 2o SER T 9w a@ Foswf

AN (i) t=02s T, (ii) t=04 s T; AU t=0.65 T G I =Ted HAN: (i) v (ii) v, T (iii)v, T :—T

Question ID:- 101
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The given figure shows a solid cylinder of radius 0.8 m. The cylinder is rotating about its axis at
10 rad/s. What is the speed of point P, located midway on line OA ?

A
(1) 4 rad/s
(2) 4m/s
(3) 8m/s
(4) 246 m/s

&3 ™ a3 ¥ v 0.8 m 5o o v 3 fafewer &1 goian wn ¥ fofeoet s s1er & uftm:
10 rad/s | I X W T 1 7@1 OA % Hea H s7afied foig p &t 9@ #n 8 ?

A

(1) 4 rad/s
(2) 4m/s

( 8 m/s

( 246 m/s

Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102
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We are given two circular discs that have same mass and same thickness but could be made of

different materials. In order to provide rotational motion, the same amount of work is done on
both the discs. It is seen that one of them moves slowly as compared to the other. Which one of the

following statements is true in this context ?

(1) The one that moves faster is made from more dense material.
(2) The one that moves slower is made from more dense material.
(3) The disc that moves faster has more moment of inertia.
(4)

4 Both the discs have same moment of inertia.

TH T ST 1 HHE HIETE A & g o gl weh € S o fafie werel | s 2 wewdd €)1 3 g
Tt T &, <1 of Te%hl T A A foha S 81 e 9 Sl @ foh S Uk gHl s eue Hi
FTA T 39 g | frefafad o d 8 FE WU e § 2

(1) o 7f & Al fewr tfuss w7 aret vged 9 =+ 2|
(2) R 7fa & Tl fewm SAfum o7@ o 9=l | 5+ )
(3) S e Al fewk @ seE gl sifye ¥

@) 3 el ¥ e st T ¥

Options:-

=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

A convex mirror of power 5D has an object of length 2 cm placed perpendicular to principal axis
at a distance of 20 cm from the mirror. If d is the distance between object and image formed, and
L is the length of image formed, then :

(1) d=10cm; L=05 cm
(2) d=10cm;L=1cm
(3) d=30cm; L=05cm
(4) d=30cm;L=1cm
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5D ¥Ift o 3T SUV1 o | 2 om AT %1 U fava 90 H 20 cm 1 3 T 35 T 378 o oraad W@l

1 o d Fore SR vt & o ) o Ao Lt % o 8, A
(1) d=10cm ; L=05 cm

(2) d=10cm;L=1cm

(3) d=30cm;L=05cm

(4) d=30cm;L=1cm

Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

Three objects, two with mass x and one with mass i, can be arranged in any of the four configurations

shown below :

b
r X
<«—T > r = wlv ‘\ =
. Y X Y X

4—T P r 3
X y x oy X “«T—> “«—T —>
(a) (b) (c) (d)

Which one of the following statements correctly gives the rank of configuration according to the

magnitude of the gravitational force on y, greatest to least ?

(1) (@), (b), (c) (d)

(2 (d), (), (), (@)
(3) (9, (b), (d). (a)
(4 (b) (@), @) (9
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T fie, fSH <1 % oM « 991 Tk 1 5o y ®, A= suid T4 =R faerEl | ot w5 S e €

TI—‘
\g 120°
T >¢—T >

<+«—T7T ) r > <
> % 4 8 B Y s &
() (b) (c) (d)

y W e a6l o YA o SER Fefatiad sweH § 9 eH 91 U 9/l a2 &, sifaeway 9 =,
el geieg gufar 2
(1) (), (b), (c) (d

(2)  (d)(
3) (. ®
(4)
Options:-

«1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

An astronaut does some repair work outside of his space-station. He unknowingly leaves one of

his tools outside the space-ship. Assuming the orbit of space-ship a circular one, the tool will :
(1) Fall back into the space ship.

(2) Fly off tangentially into space.

(3) Continue orbiting but at a reduced speed.

(4) Continue orbiting with the space-ship.

T A a9 SaRe-a o+ 98 S 9O 1 H Hdl ¢ | ST H F8 U Uk SUHL A
I % e Wi 3 ¥ Siae- i el il 9T WA gu, Sus

(1)  sfafe—=am H arfug s smem

(2) Siafe o v =l S

(3) 9 = H fERHT S W

(4) Hafe-am % T 9feRe S B/

Options:-
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=1, Option ID :- 417,
= 2, Option ID :- 418,
« 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 106

A satellite, orbiting at an altitude of one earth's radius above the surface of the earth. How much
energy (E) is required to transfer the satellite to another orbit which is at an altitude of three earth's
radius above the surface of the earth ? Also, what are the changes in the satellite's potential energy
(AP) and kinetic energy (AK) ? (Mass of satellite is 400 kg) acceleration due to gravity on the

surface of the earth=9.8 m/‘sz, radius of earth=6400 km).
(1) E=~31x10°]; AP=0; AK ~ 3.1x10?]

2) E=~31x10°]; AP=62x10%; AK = —3.1x10%]
3) E ~31x10°]; AP=6.2x10%; AK =~ 3.1x10%]
4) E~31x10°]; AP ~ +3.1x10%; AK ~ 0

Tk SYUE JeAT i Hae | Yt i 561 o TAE S I IR @ 8| 39 STUE F e SR e s
o geslt i e ¥ gl 1 e A oS98 W T, § ka9 & faw e = () #
FTEvIeRd &t 7 Suue i fefas o § uftads (AP) den wfas e § uRadd (AK) #E?  (STE 5
A = 400 kg; YA =1 Wew W [y @R0= 9.8 m/s> 941 Y2 i T3 = 6400 km)

(1) E=~31x10°7; AP=0; AK:a43.1%10° ]

(2) E~31x10°]; AP=62%10%; AK ~ —3.1x107]
(3) E ~3.1x10°]; AP=6.2%10%; AK ~ 3.1x10%]
(4) E ~31x10%]; AP ~ +3.1x10%; AK ~ 0
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107
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Two cylindrical copper rods A and B having diameters 0.1 cm and 0.05 cm respectively are stretched
within proportional elastic limits by a 5 x 10° N force. The length of each wire is 2 m. If the stretch
in thinner wire is 2cm, the stretch in thicker wire would be : (The Young's modulus of copper is

1.1 x 101 N/m?)

(1) 2.0cm
(2) 1.0cm
(3) 05cm
(4) 0.25 cm

S IEFTRR i I Tel A 3T B f5F 4 W 0.1 cm 3R 0.05 cm ¥ 991 T4F H1 FEE 2 m ¥, F
5% 103 N o GHM oel g1 SHEqS e | 3 fiae-ai=n 701 81 afe vaet o) § fdwm 2 em §,
e ar ¥ fEae -

(sl 1 I W mE=1.1x 10! N/m? )

(1) 20em

(2) 1.0cm

(3) 05cm

(4) 0.25 cm
Options:-

»1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108
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Match List - I with List - IT and find the correct answer :
List- I List - II
(Physical Phenomena) (Associated law)

(A) Blackbody Radiation (p) Torricelli's law

(B) Viscosity of Fluids (q) Pascal's law

(C) Pressure in a Fluid (

(D) Speed of Efflux (

(A) (B) (O (D)

r) Stoke's law
5)

Wein's displacement law

M @ 6 @ @
2 @ @ 6 @
B @® @O @ 6
@ 6 O @ @

T - 1 %1 g - 11 % 91 gafe 2 98 3 96
T - 1 T < 11
(itfaenta afterz=m) (g em)

(A) hivoreRr fafsswo (p) 2RHE -T2

(B) @l =il YA (q) d=ha-fam

(C) el | 5@ (r) weE-

(D) @fg - & =i =1 (s) = - fazergT fam

L @ 6 @ (@

2 @ @ 6 (@

3 @ @ @ 6

4 (s @© @ @
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109
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Mean Kinetic energy per mole of a gas per degree of freedom is :

3
(1) 5 kT
1
() 7 kT
3
(3) 5 RT
1
(4 7 RT

T 19 Ft vfa 9 gfq @y ife @iem i o=l ®

3
() 5 kT
1
(2) 5 kT
3 B RT
(") 2 N
4 = RT
(49 SR
Options:-

«1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110
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Which of the following graph can possibly represent the variation of surface tension (5.T) of water

with temperature over small temperature ranges ?

5.T
1
(1)
Temp —
st
t
@
Temp —
S.T
1
(3)
Temp —
S.T
1
(4)
Temp —
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=1 5 | %9 7R, Fr A &9 T e % T 9919 (S.T.) W AT o | uiad gefid Y Hehdl B 2

S.T
t
(1)
Temp —
ST
?
(2)
Temp —
8.T
AN
(3)
Temp —>
S.T
v
(4)
Temp —
Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,
= 4, Option ID :- 440,

Answer Given:- 3, Option ID : -439

Response Sheet

Question ID:- 111

Let a person whose surface area is about 2.0 m? is sitting in a room at temperature 17°C. The skin

temperature of person's body is 27°C and the internal temperature is 37°C. The Stefan's Constant
is 5.67 x10~8 Wm~2 K~ Considering the person's body a perfect radiator, the energy emitted

per unit time by the person's body is approximately:

(1) 190 W
(2) 110w
(3) 90W
4) 70W
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T A T Eia &% @ 2.0 m2 €, 17°C T99H W U & | 931 € | SAf® il &= 1 aqaH
27°C & a1 3Aiafish aq9E 37°C €1 WA 7o 5.67x 10 8 Wm—2K 4 &1 =aft &% IR =1 a7eyt
faferar oma U, =af® o TR 9 9f wshiE av o seafSid e o

(1) 190 W
(2) 110W
(3) 90W
4 70W

Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
« 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

The length of a wire is increased by 20% by applying a stress of magnitude 4.0 X 101 N/m? .Then
Young's modulus of material of wire is :

(1) 1.0x10" N/m?
(2) 2.0x10Y N/m?
(3) 1.0x10° N/m?
(4) 2.0x10Y N/m2

Teh R 1 TG ¥, 4.0 x 1019 N/ m? 9fier1 =1 gfdee & 1 20% i gig 8l 81 a8 I’ = 9are &l =
(1) 1.0x10" N/m?2
(2) 2.0x10Y N/m?
(3) 1.0x10Y N/m2
(4) 2.0x100 N/m?

Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113
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List- 1

(A) (B)
(1 P @
2 @ @
(B) @ (@
4) (@ (@

(A) HHAMl WA
(B) ©aI™ YA
(C) =Ishid YshH
(A) (B)
(D (P @
2 @ @
@) (@ @
4) @ @
Options:-

Match the followings :

(A) Isothermal process
(B) Adiabatic process
(C) Cyclic process

(©
(1)
(r)
(P)
(p)

(©

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Response Sheet

List - II

(p) PVY=Constant
(g0 PV=~Constant
(ry AU=0

Question ID:- 114

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=220423803120... 75/139

@ Teachingninja.in



3/7/23, 2:50 AM Response Sheet

- —
Two vectors P and Q have a maximum and minimum resultant of 10 and 6 units respectively.
— . - = . = o 3,
P’' has a magnitude 25% less than P and Q' has a magnitude 100% morethan Q, P'. Q =0,
-5 =% - =5
P + Q = R'. The magnitude and direction of R'is :
_)
(1) 2413 units; at an angle of sin~1(2/3) with P’
—
(2) 213 units; at an angle of cos™1(2/3) with P’

(3) 2./13 units; at an angle of tan~1(2/3) with f;'

(4)  24/13 units; at an angle of cot™ 1(2/3) with P

S afeeii p iR Q  siferan SR =aH Wi HEw: 10 71 6 THE E1 ' wURE p ¥ ufEm Y

- : — - -
25% FH A Q F WA O ¥ UREM ¥ 100% SE R pL.Q =0, AN P +Q =R | R F
T 2R foun &

(1) 213 ¥HE; P ¥ sin~1(2/3) % =M W
() 213 THE; P H cos~1(2/3) % i YT

(3) 2413 THE; P A tan—1(2/3) F FU W

3
(4) 213 THE; P’ A cot—1(2/3) F FM W

Options:-

«1, Option ID :- 453,
» 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115
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O A

» X

A block P of mass 4M is at origin O of X-axis . A string OA=L has a mass M and is attached to
block P as shown in figure. A constant force F is applied parallel to X-axis at free end A of string,
The tension along string varies at a constant rate of +0.5N/m. F is:

(1) 15N
2) 20N
3) 25N
4) 30N
0 A

> X

ST 4 M 1 Teh s6ileh P X-3181 % gafeig O W@ &1 M 5599 %t 2f OA =L, fost § <o o1gur
AR P9 981 8 1 S o b TH W X-31% o HHIG U F9d 9 F SR foran s 81 SR & sfey
T8 TR FEId g +05N/m S =B FHRIAFE .

(I) 15N
(2) 20N
3) 25N
4) 30N
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

It is observed that when a water surface is brought under a pressure of 10° N/m?, a volume strain
of 5% 1073 is produced. The density of water is 10* kg/m®. The speed of lengitudinal wave
produced in water is close to :

(1) 256x10° m/s
(2) 1.9%10°m/s
(3) 14x10°m/s
(4) 330m/s
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&1 KT 9L U AT (3R 5 % 989X 10° N/ m? €& STRITAd o 9 3HH 5 x 10~ 2 &l rafies fasid
3099 BT B | ST 1 HE 103 kg/m> 71 S H 3 otedd awil &l =na ® (Fekeam) -

(1) 256%10°m/s

(2) 1.9%10°m/s

(3) 14x10°m/s

(4) 330m/s
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

Two travelling sinusoidal sound waves have same amplitude and same frequency. They can
produce a fully destructive interference only if :

(1) They travel in the same direction and are in the same phase.
(2) They travel in opposite directions and are in the same phase.
(3) They travel in the opposite direction and are 180° out of phase.
(4) They travel in the same direction and are 180° out of phase.

T W e A w6 A SR i guE 1 g faemit sfes wee av som 9=
Tehdl § Fefh

(1) & 99F e | aen 9oe feon 5 791 w2

(2) & |AE e | a9 faoda feenedl | T i 2
(3) @ foudia fewmedi & 7o el ® oI 3k 9 180° &1 FAH 2
(4) A F9 foun H T € 3R 3F oE 180° 1 el © |

Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118
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For a simple harmonic motion of a particle, graph between magnitudes of acceleration (a) and

displacement (x) is :

a
1
(1)
—> X
a
f
(2)
—K
a
1N
(3)
—rX
a
f
(4)
—>X
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T T A T 6 AU ; R (a) T fawergT (x) % 9im % &" e

a
)
(1)
—> X
a
f
(2)
—»x
a
A/
(3)
—»x
a
=S
(4)
—>X
Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

The bob of a pendulum executing simple harmonic motion has speeds equal to 3 cm/s and
2 em/s at distances 4 cm and 6 cm from the mean position, respectively. The time period of this
pendulum is (close to) :

(1) 42s
(2) 84s

(3) 1265
(4) 1625
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TS STEd| a A R A & e &l 39 9o fefd | 4 em 3R 6 om A W =R FE
3cm/s 3R 2 em/s B T SAGE &1 394 e © (Fawzan)

(1) 4.2s
(2) 84s
(3) 126
(4) 162 s
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

Which of the following quantity/ies can be determined by the intial displacement and speed of a
particle which is executing simple harmonic motion ?

(A) Amplitude
(B) Phase constant

(C) Angular frequency

(1) (A)only
(2) (B)only
(3) (A) and (B)
(4) (B) and (C)

T ] i L TR Fo % s e siR = g A= & T aferEl [(A), (B) SR (O)] H
e/ fermert feioor foran s weman § 2

(A) STEH

(B) kel Tudiss
(C) =ita gfa
(1) e (A)
(2) = (B)
(3) (A) ¥R (B)
(4) (B) 3 (O)
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Options:-

=1, Option ID :- 477,

« 2, Option ID :- 478,

= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Question ID:- 121

Which one of the following determines the speed of a sound wave?
(1) Its intensity

(2) Its frequency

(3) Its wave number
(4)

The transmitting medium.

frefafad # @ %5 @ s fFd wf 9+ =@ fuifa s g2
(1) 35! diere
(2) THR! S
(3) SHH! qUI-HEA
(4) HYH! AT

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122
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(A) (B) (©
1 @ @ @
2 O @ @
3) (@ @ @
@ @© P @

T AW T & o fre=fafes g @
1y =(0.06) sin(2mx) cos(5t)
=gl gt wiqai o a1 ¥ e ufer) & S E )

e =l = grfer T HeE I 9

() Wi = S
@) B (©
L ® @ 0
2 @ @ (@
3) @ @ @
@ @ @ @
Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,

Response Sheet

Following equation is given for a stationary wave
1y =(0.06) sin(2mx) cos(5t)
(Here all values are written in SI units and symbols have their usual meanings)

Match the following lists and find the correct answer :

List - I List-II
(Physical quantities) (values)
(A) Amplitude of constituent waves (p) 0.5
(B) Distance between two consecutive nodes (g 0.03
(C) Frequency of waves (r) 2.5

T I
(1)

(p) 05
(@ 0.03
(r) 25
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= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123
Two charges A(5.0 pC) and B(10 pC)are located at points (0 cm, 0 cm) and (—8 ¢cm, —6 cm)

A A
respectively. The force exerted by charge B on charge Ais (i and j are unit vectors along x-axis

and y-axis respectively and { } =9 x10° Nmz/CZ) :

4 ey
() —@7 N)? - (36 N)?

(2 (@ N)i +(36N)]

(3 —@6N)i — (7 N)]

(4  @6N)i + (27 N)]

A HAET A(5.0 pO)FR B(10 pC) FH: o5& (0 em, 0 cm) 3R (-8 cm, —6 cm) R feom 1 2@
B BRI ST A R SRIfGA @@ § (1 R ] wEen x-319 R y-319 ¥ orfw whis gfew € aen

{ 1 }=9x109 Nm?/C?):
4‘TTED

M A

(1) —27N)i — (36 N)j
@ (7 N)i + (36N)]
(3  —(@36 N)? — (27 N)}\'

4 (@6N)i + (27 N)]

Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492
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Question ID:- 124

An electric dipole consists of two equal and opposite charges —q and q separated by distance 2a.

The potential due to this dipole at a distance r from its centre, on its axis is proportional fo :

) r

1
-
1
3 2
1
4 3

=1¢ o faym, <1 ofam & gam &R faodg emawl — q 3R q, 57 9 2a 1 9o €, 9 faees o
21 =9 foya % #R0 s9% F A 9l + W foea fave Frefafas § g erqafes 2
(1) r

1
2 7
1
@ =
1
4 3
Options:-

=1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Three charges A(9 pC), B(18 pC)and C(—27 pC)are located at points (0 cm, 0 cm, 0 cm)
(0 em, 2 em, 0 cm), (0 cm, 4 cm, 0 cm) respectively. A sphere of radius 3 cm is drawn with its centre
at (0 cm, 0 cm, 0 cm). The electric flux through this sphere is (g,=9x10" 2 C2 N1 m™2):

(1) 0Vm

(2) 2.0x10°Vm
(3) 3.0x10°Vm
(4) 6.0x10°Vm
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@A™ A9 pC) B(18 nC) HIX C(-27 pC) #HIM: fa=gai’ (0 ecm, 0 cm, 0 cm)
(Ocm, 2cm, 0 cm) 97 (Dm,-icm,l]cm)‘ﬂﬁﬂﬁ%l (Dcm,[}cm,l]m)ﬁﬁWSmlﬁWW
IS TTel =1 T 2 | g9 el § TS Jrel foR[ T 8 (g,=9x 10" 12 C2 N~ m 2 #ifew)

(1) 0Vm

(2) 2.0x10°Vm

(3) 3.0x10°Vm

(4)  6.0x10°Vm

e

Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

A 200 pF capacitor is charged to 10 pC. The energy stored in the capacitor is :

(1) 0.20]
(2) 0.25]
(3) 0.40]
4) 050]

200 pF wifiar & forddt Henfia =1 10 pC & i for 0 81 39 denfs o dfea ot © -

(1) 0207
(2) 025]
(3) 040]
(4) 0.50]
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=220423803120... 86/139

@ Teachingninja.in



3/7/23, 2:50 AM

=i feafast o= & -

4 TE(

A e 8uC

3cm
4cm’/
----- -9 10 pnC
.C T

4 cm
Be—1uC

(1) 1177
(2) 1717
(3) 234]
(4) 3427

2

Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508

1 9 % il
(Take {4 wa{,} =9x 10" Nm"/C")
A98uC 3 cm
4 cm
L -----Y. 9 10 nC
.C 1
4 cm
Be—1uC
(1) 1177
(2) 1717
(3) 2347
(4) 3427

@ H T ATAR 74 g3l A, B 3R C W8 uC,

H 1 }=9>< 10° Nm?/C? =fifsm

Response Sheet

Three charges of 8 pC, —1 pC and 10 pC are placed at points A, B and C respectively, as shown
in figure. The potential energy of this system of charges is :

— 1 puC 8T 10 wC 37ew fee@ B1 AW o 39
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Question ID:- 128

A parallel plate capacitor of plate area A and plate separator d is filled with three dielectric slabs
of dielectric constants 3 K, K and 2 K respectively, as shown in figure. Their areas and thickness
A A

A 2d d
are [E, d}, [?, TJ and [E, 5) respectively, C, and C are the capacitances of the capacitor

~

@
without slabs and with slabs respectively. Then {C_{Jis 3

d

M

4//1(/52325%

2d d
3
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ol T ufga et fome ufzal 1 awa A 3R g9 d © T ufzedl & 9= o M &l &G
T g STTHR i WEEA Tl T Wegdis e 3 K, K SR 2K § ¥ o0 T 21 31 ufgwmed %

%ﬂwmﬁm‘a‘m[f d} (% %]am[i g)%l 0 e F) T e S e e

wﬁmq‘m:coaihc%maaqu{c%}%—

&&%

_ =
y |

o (B

o (B

o (B

o (@K

=1, Option ID :- 509,
« 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129
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1
Three cells E,, E, and E;, of emfs 9V, 5V and 3 V and internal resistances 1 £}, 0.5 (2 and (g]ﬂ

respectively are connected as shown in figure. The equivalent emf of the combination, between
points A and Cis :

Eq
A<>OC
Eg
4
m (3
2) 7V
3) 17V
4) 1V

1 Gl By, B, 3R E, fSF% emf H9: 9V, 5V 3R 3V a1 HidRe gfedier 5 1 Q, 0.5 Qafﬁz[%]ﬂ
¥ 7)1 st 2t srER WA B T R S8 T 1 frgel A 9l C % e 3 em ¥

Ey
A Ea C
E3
4
m (5N
2 7V
3) 17V
(4 1V
Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
« 3, Option ID :- 515,
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= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Temperature coefficient of potentiometer wire should be :
(1) High

(2) Low
(3) Negligible
(4) Normal

ferl farvyer Bdt 9 &1 979 s B AT
(1) 3=
(2) =
(3) T
(4) ¥HH
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131
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Energy bands of three materials are given below. Here V and C represents their valance and
conduction bands respectively :

& /
¢ >3eV
<3eV C &
v "///(//)////// v ’/////{]{)///// v ”//////(/)/////

These materials are respectively :

(1) Conductor, Semiconductor, Insulator
(2) Semiconductor, Conductor, Insulator.
(3) Insulator, Semiconductor, Conductor.
(4)

Conductor, Insulator, Semiconductor.

9 weref & Tl o, A9 ¥ T ¥ W @ V 3R C I HEe: A g 9o 9 gl €

C

C

: - . ! >3 eV
v ’////(/////// v //////a{)//// v ’/////(/}/////

a) C

3 T HE: T
(1) =Teieh, AL=Te, o
(2) HAY=EH, dleish, FAES
(3) A, TR, AR
(4) =TeTR, FAIEH, TR

Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132
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Two statements are given below one is labeled as Assertion (A) and other as Reason (R). Select

the correct answer using the code given below :

Assertion (A) : Potential difference (V) across the terminals of a battery is always less than the
emf (E) of a battery.

Reason (R) : During discharge of a battery potential difference (V) across two terminals of a
battery is V=E—ir, V < E.

(1) (A) and (R) both are correct and (R) is correct explanation of (A).

(2) (A) and (R) both are correct and (R) is not correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

e <1 e 58 T ¥ U F R (A) T THL I wEER (R) Fel T 1 A f7F W Fre § TE swW
IELE

HAF (A) : TF F1 1 faa=R (V) =8 F emf (B) I Y1 %Y BT |

@ (R) : TF 924 F fausi & Srm, ded &1 favyarsm (V) V=E —ir, : V<E

(1) (A) 1 (R) SF1 9 & G1 (R), (A) 1 TE =] el ©
(2) (A) 991 (R) SHi TeF & 901 (R), (A) F Tl SRS &1 a1 &
(3) (A) @ WY (R) ST9A &

(4) (A) THS 9 (R) ¥A ©

Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
=« 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133
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Which one of the following Voltage versus current variation curve could correspond to a GaAs

device ?
1
(1)
v
(2)
v
1
(3)
v
I
(4)
VF’
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= fed T3 SIRdi 9 9 i 9 U R GaAs gf % fau w2l dteedr - 9/ fa=mor w1 g9 gl 872

v
(2)
v
1
Vv
I
(4 .
VF
Options:-

«1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134

A silver wire has a resistance of 2.1 () at 27°C, and a resistance of 2.7 Q) at 100°C. Which one of the
following values approximately gives the temperature coefficient of the resistivity of silver ? (The
physical condition of the wire remains the same throughout).

(1) 4.0x10—3K-1
@) 2T7%10-2K~1
(3) 13x103K-!
(4 27x103K-1
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fordt foea & R 1 27°C W HfEd 2.1 Q W E 991 100°C W 2.7 O 8| F=afafes o= § 4 39 1= foeR
% WfcRIERaT T o o STEE <A1 § 2 (AR 1 sfifaen feafaal gme a9 wed €

(1) 40x10-3K-1
(2) 1.7x1072K-1
(3) 13x103K"1
(4) 2.7x1073K-1
Options:-

«1, Option ID :- 533,
= 2, Option ID :- 534,
« 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533

Question ID:- 135

Which of the following substance has a negative magnetic susceptibility ?

(1) Magnesium

(2) Gold
(3) Chromium
(4) Nickel

Freafafaa § 4 fFy ©F 1 s gesE qaid ¢ ?

(1) Fifory

(2) Tes

(3) hItHAH

(4) Tt
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
« 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136
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A current of 10 A is maintained in a long straight wire. The magnitude of magnetic field at a
distance of 20 cm from the wire is (uy=4wx10~7 Tm/A) :

(1) 10 pT
(2) 20 T
(3) 628 uT
(4) 125.6 uT

ferdt oal e A H 10 A 9R1 E=094 1 T € TH aR H 20 cm g0 W FEERRE A9 1 9HET §

(ho=4mx10~7 Tm/A)
(1) 10 pT

(2) 20 pT

(3) 628 uT

(4) 125.6 uT
Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

A square coil of side 5 cm, with 50 turns, carries a current of 4.0 A. It is suspended vertically in a
uniform magnetic field of 0.6 T such that the plane of the coil makes an angle of 60° with the field.

The magnitude of torque experienced by the coil is close to :

(1) 0.15 Nm
(2) 0.26 Nm
(3) 0.35 Nm
(4) 0.52 Nm
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5 cm YST $R 50 A Al TR aER FUeet T 4.0 A U yeied @ @ T 39 Fueet # 06T F
THHAH FrEshA &5 H FHEiyE: 39 R Fefad f mn € 6 Foeel o g grashid &5 9 60° % S
TG E | FUSA gRI AT T S Ao o sl o1 R (Feeam) ®

(1) 015 Nm
(2) 0.26 Nm
(3) 035 Nm
(4) 0.52 Nm
Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Two long parallel conductors A and B separated by 10cm, carry currents of 10 A and 4 A respectively
in opposite directions. The force exerted by conductor B on 5cm segment of conductor A is
(ho=4m X 1077 Tm/A).

(1) Repulsive with a magnitude of 4.0 uN
(2) Repulsive with a magnitude of 8.0 wN
(3) Attractive with a magnitude of 4.0 puN
(4) Attractive with a magnitude of 8.0 pN

10 cm YUFA F S T, WS gER el A 9R B @ faadia fegnedi # wue: 10 A R4 A uRE vafed
AW | TF B W TEHE A F5 om T WIS T AR TA R ¢ (uy=4wx 1077 Tm/A),

(1) whaed= fomen i € 4.0 uN

(2) wfaerdes forger 9fmmT € 8.0 uN
(3) ey formeR gfmmr € 4.0 pN
(4) TRy formeR oo § 8.0 uN
Options:-

=1, Option ID :- 549,

= 2, Option ID :- 550,

« 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551
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Question ID:- 139

A 1.2 cm straight segment of a wire (part of a circuit), centered at (0 cm, 0 cm) lies along y-axis. It

P SIS 7
carries a current of 6.0 A along y-axis. The magnetic field ata point (12cm, 0 cm)is: ( i, j and k

are unit vectors along x-axis, y-axis and z-axis and py=4mw X 10~7 Tm/A).
N
() — (025 uT)k
" A
(2)  (0.25 pT)k

N

(3) - (0.50 uT)k

s

(4)  (0.50 uT)k

Rl TR 1 1.2 cm TN IS Hie @O (TR9Y 1 TH W) S y-HA F S0 WM E (0 em, 0 cm) R
HiEd &1 THH y-399 % ST 6.0 A MW Yarfed °f W@l ¥ fRE 55 (12 em, 0 cm) R TEHA &7 7

(i, § RE wm -, gl 3R 2o % TIfeY T Aiew § A9 p,=4wx 107 Tm/A)

"

(D) —(0.25 uT)k

(2)  (0.25 uT) k

A

(3)  —(0.50 uT)k

A
(4)  (0.50 uT)k
Options:-
«1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

Question ID:- 140
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4
The magnetic energy per unit volume in a region with uniform magnetic field B is (u is the
permeability of free space) :

o (G

o (B

THETH gEE &% B ¥ et dw § 9ft wwiE st geta sl 3 & - (, T SR E
FraRYierd g 1)

o (3=

o (B

B2
3 —
( ) Ho
4 1r 2
4 — |B
o [2)
Options:-

=1, Option ID :- 557,
= 2, Option ID :- 558,
= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Question ID:- 141

https://kvsexam17feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Ro0lln0=22042380312...  100/139

@ Teachingninja.in



3/7/23, 2:50 AM Response Sheet

A solenoid of length 2.0 m and cross-sectional area 1.0 x 10 ~*m? consists of 200 turns per unit
length. The self-inductance of the solenoid is (p,=47x10~7 Tm/A) :

(1) 4 wpH
(2) 8 muH
(3) 16 wpH
(4) 32 wpH

2.0 m @ 3R 1.0x 10~ 3m? T e &=Fa *1 fret uftnfesm | gfd uanis o % &1 9= 200
21 3\ SfAfoR 1 W § 0 (wy=47x 1077 Tm/A)

(1) 4 wpH
(2) 8 muH
(3) 16 wpH
(4) 32wuH
Options:-

«1, Option ID :- 561,
= 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

A 2.0 m long metallic rod is rotated with a frequency of 20 rev/s about an axis perpendicular to
the rod passing through its one end. The other end of the rod is in contact with a circular metallic
ring. A constant and uniform magnetic field of 0.6 T exists in the region parallel to the axis. The

emf induced between the centre and the ring is :

(1) 12V
2) 12wV
(3) 48V
(4) 48 7V
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2.0 m T fRdi-uifas o %1 39% UF G A ereed ToRy 9 S8 % 9ia: 20 gfaeEsmu/dse w
sgfa § JUF A TR TH O % ool o Rl adw afem s F w4 ¥ s Am H 0.6 T #
g fod R 2181 & HHiGY UHEEE graEE & foRmm B e oit 9o & e % o fosfad emf
(Tagd =mesh o) ©-

(1) 12V
(2) 124V
(3) 48V
(4) 48 wV
Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

A sinusoidal voltage of peak value 141 V and frequency 50 Hz is applied to a series LCR circuit
(R=3 Q, X; =7 Q, X-=3 Q, symbols have their usual meanings). The power dissipated in the
circuit and the power factor are respectively :

(1) 0.6 kW, 0.8
(2) 05 kW, 0.6
(3) 1.2 kW, 0.6
(4 1.2 kW, 0.8

T 50Hz #IR RrEwAr 141 V i fowel s dieed =i et 40ff LCR 9ftug (R=3 Q, X, =7 Q,
HR X =3 Q &l gdrehi & 1o | ) T AT Tohan T 81 3 uftey H v e IR uRay w1 vl
T[T AT |

(1) 0.6 kW, 0.8
(2) 0.5 kW, 0.6
(3) 1.2KkW, 0.6
(4 1.2 kW, 0.8
Options:-

=1, Option ID :- 569,
= 2, Option ID :- 570,
« 3, Option ID :- 571,
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= 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Consider the following statements for all virtual images :

(A) These can be seen but cannot be taken on a screen.

(B) These are ephemeral (short-lived).

(C) These are always equal in size as that of the object.

(D) These can be formed either using convex or concave surfaces.

Which of these statements are true in the given context ?

(1) (A) and (D) only

(2) (B) and (C) only
(3) (A), (C) and (D)
(4) All (A), (B), (C) and (D)

SR wfaferai & ey | frafafed we w fo=r #ifE
(A) W W HHA € W W W AR A S HRA

(B) ¥ sTeuehiicish B 2|

(C) ST TR Toa & foia & 4o 2 §

(D) e 3T A1 AT Tdel & SUArT H W foFan <71 Sk § |

ATy A d AR T ® 2
(1) = (A) 3R (D)

(2) HFd (B) R (C)

(3) (A), (O ® (D)

(49 = (A), (B), (O 3 (D)

Options:-

«1, Option ID :- 573,
= 2, Option ID :- 574,
« 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145
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As shown in the diagram, a hollow lens, made of very thin glass having refractive index equal to
1.5, can be filled with air (refractive index=1.0), water (refractive index =1.33) or CS, (refractive
index =1.60). Which of the following thoughts may be adopted if the lens is to be used as a divergent
lens for a light beam that is incident parallel to the principal axis of this lens ?

1) The lens is filled with water and immersed in air.

(

(2) The lens is filled with CS, and immersed in air.

( The lens is filled with CS, and immersed in water.
(

The lens is filled with water and immersed in CSQ.

o=t & <o ogER Tt @et &g st f 1.5 svad=is 9 989 §f aet &9 9 9 7, ¥ ag
(AYEIIF =1.0), ST (STUEAAIF =1.33), 91 CS, (AYeiTiH =1.60) T 1 el &1 6 &F & T&A
S1& o T st et werTe g o o g9 o i oo ot e o w9 H 3w H @ W ferg Freferte
T 9 = | foar 399w 8 Hed 7 2

(1) 9 5 § SR 991 9 ° galt
(2) @ I CS, | YR T o H e
(3) ©fF I CS, ¥ WL 441 A H gt
(4) R A H WH 9U1 CS,H g
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146
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L, and L, are two plano convex lenses of materials of refractive indices p; and w,, respectively.
The radii of curvature of curved surfaces of L, and L, are C and 2C respectively. The two lenses

are put in contact to form a bi-convex lens. The equivalent refractive index (p) of bi-convex lens is:

(1) p=p+2p,

(2 2n=2p+p,
(3)  3p=2p;+tp,
(4 3p=2uy+py

L, 3R L, 31 95del 30 i 8 S A8 w, AR p, eI & 9arEl & &1 L, 3R L, i ash-Hael &l
gl R % C @R 2C €1 29 M1 gl i fESaat o F 1 9o SA9EE ¢ ;
1) p=p+2p,

(2 2p=2p +tp,
(3) 3p=2p+p,
(4) Bp=2pr+ 1y

Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

With regard to Huygen's principle of secondary wavelets, following statements are given:
(A) It can be used to find the speed of light in a medium.

(B) It can explain Snell's law.

(C) Itcan be used to find the subsequent position of a wave front.

Which of these statement is/are true ?

(1) (A) and (C) only

2) (B) and (C) only

3) (A) and (B) only

(
(
(4) Al three, (A), (B) and (C)
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BRI % faditoes dom fagr &% Hey # frefafad wyw fed ™ € -

(A) =T 39Ar fRdt mrem By it =i 9w e % fore fRe S g 2
(B) 3THH A % 799 &} =AT@N Fl 5 Hehelt &

(C) 38T SR foRgt Gy ot STt ferfd op1 ST ST Sk |

T Y YT HE B2
(1) el (A) 8 (C)
2) Ee (B) 3R (C)

(
(3) a4 (A) 3R (B)
(4) =t A (A), (B) #R ()

Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Three nucleii X, Y and Z have mass numbers Aq; A(>A,) and Ay(<A,) respectively. The binding
energies of X, Y and Z are E; E, (=E,) and E; (>E,) respectively. Arrange the nucleii in their
increasing order of stability:

1) XY Z
2 Y.XZ
3) X ZY
4 ZYX

T R X, Y SR Z % 5T HEIE N Ay Ay(>A) FRAL(<A) B1 X, Y SR Z i 9¥F e
FEM Ey E, (=E,) $RE, (5B §1 Tfvei % e % sgd g¢ o § 90 98 HwE R 2
)y Y

(2) Y, X Z

3) X, ZY

(4) Z,Y, X
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,
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= 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Response Sheet

Question ID:- 149

A point light source O is placed between two plane mirrors at a distance 0.2x from mirror A, as
shown in the figure. We see multiple images of the light source in both mirrors. How far behind
mirror A are the nearest three images of the source in that mirror ?

0.2 x

O

x
A B
(1) 02x,18x3x
(2) 02x 22x, 24x
(3) 02x,08x 14x
(4 02x18x22x

fom # <9 ST7ER & T9ae vl & i 2901 A § 0.2 x i gl T U fog yEm Em O W@ ¥ e <A @
YTl T Y191 ©ld ok ks Yiafersl fo@rlt <d &1 gUor A o fohas dies 39 <o § &id ol WHee o= gfdfers

g2
02x
O
X
A B
(1) 02x,18x 3x
(2) 02x,22x 24x
(3) 02x,08x,14x
(4 02x18x22x
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150
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Which one of the following statements is true for a photoelectric effect apparatus ?

(1) The stopping potential for a given photosensitive material is independent of the frequency of
the incident radiation.

(2) The saturation current for a given photosensitive material is independent of the frequency of

the incident radiation.

(3) On bombarding radiation on a photosensitive material, the photo electric emission process
takes place with a time lag of about 1ms.

(4) The cut off frequency of incident radiation is same for all photosensitive materials.

fert wermer SEgd g IusR o fan Frefafad oA 3 9 wF 9t 9 2 7

(1) ot fed 7w uemrerEadt uard & foru frinft fave, smofaa fafeo 1 smafa w fsfk 58 @ 21
(2) Toredt fed 3 yeprordast uered % forw Haw umy emufaa fafwo &t sngfa w fefk =2 wat

(3) Torsl weRTel Herdl Ugrel oY fafertor & SAT9a O WeRTel S SaASH YT Tms HEA % S Bl ¢ |
(4) rfae fafsor i sfa enafa @t g woel veref % fan gam 2 €

2

Options:-

«1, Option ID :- 597,
= 2, Option ID :- 598,
= 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

What is the de Broglie wavelength associated with a ball having kinetic energy equal to 67.5] ? The
mass of the ball is 150 g. (Planck's constant=6.63 x 10734 Js) :

(1) 1.04x10"* m

(2) 3.27%10"3Fm
(3) 147x10"¥*m
(4) 4.66x10"H m
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67.5 ] Tt Tl aedl fohelt e ¥ wrag S-9mell ailesd #91 gR 2 7E %1 §oA|H 150 g €
(i i = 6.63 x 10 =34 Js)

(1) 1.04x10=% m

(2) B8.27x10"F m

(3) 147x10 % m

(4) 4.66x107* m

Options:-

«1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

Three particles: an electron, a proton, and an alpha-particle are accelerated through the same
potential difference say 200V. What is the rank of these particles according to their associated de-
Broglie wavelengths, greatest to least ?

(1) Alpha-particle, electron, proton.

(2) Proton, alpha-particle, electron.

(3) Electron, Proton, alpha-particle.

4)  All will have same deBroglie wavelengths.
( 8

T 0 : U AR, U WIEH 2 U 3iewm-%0 §9F favaia, g fe 200 v, S efa ™ &1 =
FHU I 3T Grelg, S-Sl qireeA], stfershan § <[y, 1 96l 9 # Q2

(1) IEH-H0I, SeiaH, WM

(2) WM, SFEE-HY, T
(3) SeleH, UIeM, SR
(4) T FY S-FAFEH TCH-THE B |

Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
= 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153
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Which one of the following statements is NOT true ?

(1) The average binding energy per nucleon in an atomic nucleus is almost the same as the
binding energy in atoms.

(2) The average binding energy per nucleon does not depend on the electric charge.
(3) The range of the nuclear forces is usually few femto meters.
(4) Nuclear forces do not follow inverse-square law.

Frafafad &g § 9 ®F W 1% 9 7= 8 2

(1) TR grfuem it aon forelt oo § ofa =feerm ol sum St erme Smm g
(2) i e oiwd duE e foga srew w fsR 78

(3) e Sl 1 WH HHEN: F9 HRHEL S §

(4) e & Ferd - a1 a9 & 9eE T8 w5

Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

Which of the following factors determine the photocurrent in a photoelectric effect apparatus?
(@) Intensity of incident light.
(b) Potential difference applied between two electrodes.
(c) Nature of emitter material.
Using the code given below select the correct answer :
(1) (a) and (b) only
2)  (b) and (c) only
(a) and (c) only
1) Al (a), (b) and (c)
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Tort wehm1 SEgd W 39 H frefafed wel | ¥ S Y- i i # €2
(A) Igfdd YeRra =i dler
(B) T SoIEIS] o HE Wgth favaim
(C) Sodsish & vare 1 gpfd
== fea @ 1 AN T HE I G
(1) (A ) (B) herc
(2) (B) ¥R (C) Faa
(3) (A) ¥R (C) Faa
(4) (A), (B) 3 (C) T:f
Options:-
=1, Option ID :- 613,
= 2, Option ID :- 614,

= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Match List - I and List - II, given below and select the correct answer from the code given below:

List-I List-II
(Physical Quantity) (Approximate energy values)
(A) X-ray Photon energy (p) 0.02 eV
(B) Binding energy per nucleon (@ 931 MeV
(C) Thermal energy of air molecules (r) 10 keV
at normal temperature
(D) Energy equivalent of 1u (s) 8.0 MeV
Code
(A) (B) (O (D)
L @ 6 O @
@ ¢ @ @ O
G) @ M © @
@ o 6 © @
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A T -1 1L & e g A Y g @ SR

Tqeli-1 Teit-11

(odiferen Tifdm) (3TETA: S W)
(A)  X-Toro wIEH il (p) 0.02 eV
(B) wlia——afoetei siuq == (@ 931 MeV
(C) HMH= A 9L S-Sl g s (r) 10 keV
(D) 1u = FSl-qedih (s) 8.0 MeV
e

(A) B) (© (D)
L @ 6 © @
2 6 P @ @
3 @ O 6 @
4 (@) ) @ @
Options:-

=1, Option ID :- 617,
« 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

(1)
(2)
(3)
(4)

Question ID:- 156

Which of the following radiations has the highest wavelength ?

Microwaves
Ultraviolet rays
Gamma rays

X-rays

frefafea fasmon 8 9 feaest atmesd sifusan §72

(1) HEHEE

(2) I fRT

(3) T feeor

(4) X-fereoi
Options:-

«1, Option ID :- 621,
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= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157

In the Bohr model of hydrogenic atoms, which of the following statement(s) is/are correct ?

(A) The radius of the orbit of an electron having principal quantum number n is directly

proportional to n?,

(B) The magnitude of the potential energy of the electron in any orbit is always equal to the

kinetic energy of electron.

(C) The total energy of the electron in the n orbit is inversely proportional to n.

(1) (A) only
(2)  (C) only
(3)  (A) and (B)
(4)  (B) and (C)

RS TRETE % WR Hew §, frefata s § 9 S 969 R 2

(A) Tt seraia fomret g &ien T&m n ), #i e & 55 n? % SFIHEaT S 7
(B) foredt oft when H sorm @t fefast St swent nifost =il & wea 9o At 7

(C) n o &N H, SUFH H He Feil n & FEHAIC! B B

() =ad (A)

(2) =@ (C)

(3) (A) ¥R (B)

(4) (B) 3 (C)

Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
» 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158
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A hydrogen atom is in second excited state. It emits a photon in jumping to a state of energy
12.09 eV. The time period of electron in orbit in initial and final states are T, and T,, respectively

T/ ).
(72,
(1) 3
(2
(3) 18
4 27

T 2R T fadt safem eramen § §1 =% 12,00 eV Foit ol s/oey § Fed & fou wF weE
Ieafsa e 81 URfises siit sifon seeansdl § seisd™ % ofEd #ie e T, 3R T, %l(T%z)%:

(1) 3
(2) 9
(3) 18
(4) 27
Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,
« 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

On forward biasing a p-n junction diode the :

(1) depletion layer width decreases and the barrier height is reduced.

(2) depletion layer width decreases but the barrier height is enlarged.
(3) depletion layer width increases but the barrier height is enlarged.
(4) depletion layer width decreases but the barrier height remains unchanged.
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ﬁ?ﬂqu-n Yy Srrg w1 sTfefrr ahy w39 W

(1)  BRi T = e %9 8@ S € i Afte # S=E 52w E

(2) T T TSR w8 S § ug e w3 9 S E
(3) BIE TR I SR 9 Sl ¢ iR Afereh Y = o S @ )

(4) B W I =TSR W S @ Ui AT i S sufafdd @ g

Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160

A small block of 8kg is suspended by a rope of length 3m from a ceiling. A force of 60N in the
horizontal direction is applied in the midpoint P of the rope, as shown in figure. The angle 6, the
rope makes with the vertical, in equilibrium is (take g=10m/s?) :

0
360N

V] 8ks

g U

wl| w

s | @

19| =

(8
3
5

Ui r2
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8 kg ZeIHM W1 Uk Bl =i 51 3 m 1 TH g7 B 9 2okl €1 Tl % 7o foig P ¥ fod § 2w
STER &St fewn 3 vk 9 60 N @1 i & 1 T g1 Hger | S H e e v 6 € (g=10 m/s?)

(1) tan 1[%]
p—
@ w'(3)

Options:-

«1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Question ID:- 161

A person having mass 60 Rg, is moving in uniform circular motion on a horizontal surface which
is frictionless. The radius of circle is 5m. The centripetal force applied is 50 N. What is the amount
of work done by the force when the person moves through one-half of a rotation ?

(1) O Nm

(2) 250 Nm
(3) 500 Nm
(4) 250 wNm
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60 kg ETHM 1 Teh A forsl =orfed &ifds Hae T U §AH g T L W@ E | F9 1 B 5m €|
AT ST9h=1" 9 50 N & | o1 & gR1 T3 73 = <6t 9 =01 &, Siafs =af U =t o1 37
T F A G ?

(1) 0Nm

(2) 250 Nm

(3) 500 Nm

(4 250 wNm

Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
« 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

- -
Two conservative forces Fy and F, act simultaneously on an object of mass M. The work done by

them over a closed path are given in two cases as follows :

W, =cf(1?l) +F_2)).d: and W2=cj(1?: _g).d:

What is the relationship between W, and W, ?

(1) WpW,

(2) W,=W,=0
(3) W;=W,#0
(5 Wi<W,

ATt ae B o, o w fie e e e e ¥ et o v e g R e = e
< Feerferdit & feear e 32

—

wi=q(E +B).ds 7w, =d(§ - &).d5

W, e W, H P Hay E7

(1) Wp>W,

(2) W] = ‘Nr.,3 =0
(3) W, =W,#0
4) Wy <W,
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Options:-

=1, Option ID :- 645,

= 2, Option ID :- 646,

= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163

_> r - -
An object is moving with a constant velocity V. Which one of the following statements is correct

for the angular momentum of this object ?

(1) Its value is always zero.

(2) Its value is always non-zero.

(3) Its value is zero only once during its journey.

(4) Its value is zero only if the trajectory of the object passes through the origin.

+i fifs v i am v & e 31 36 fis ¥ Fii gim ¥ forn frefofas w0 8 4 267 @ ok o
272

(1) =91 9 Hed I Bl &

(2) 3HH HH Tad & ST T T

(3) THH HF IHH! AN H ool U a) & Y e

(4) SHRT HIH Y BN kel S BN fep S92 S R AT 9 g g W SRt e 7

Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164
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A cord of negligible mass is wound round the rim of a flywheel .The mass and diameter of the

flywheel are 10 kg and 20 cm respectively. Now the cord is pulled down steadily, as shown. What
is the angular acceleration of the flywheel ? (The flywheel may be considered as rigidly mounted
on a horizontal axle and as it bears no friction) :

m=10 kg
F=10N

(1) 552

(2) 10s~2

(3) 20s2

(4) 100 s—2

U GSHE dTell Ueh Tt 1 Ueh fauTeiss 93 (TE-id) & i () 7 &der g1 nfdues =6
1 GEH A1 SAH SHAS: 10 kg 9120 cm 21 376 TRl oh1 B4 STTER Hiel =i &1 AR =1 il &1
TferaTeTeh =5k S hIONE I T 2

(TfcraTeTas =ik oh1 fordl &ifesT 2787 T2 =@l & WY & W1 ST Hehdl © 91 98 e 99 TE W )

&)

m=10 kg
F=10N
(1 &&=
(2) 10572
(3) 20572
(4) 100 s—2
Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165
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Two statements are given below, one is labeled as Assertion (A) and other as Reason (R). Select
the correct answer using the code given below :

Assertion (A) : If temperature is increased, fundamental frequency of an open pipe will increase.

Reason (R) : The fundamental frequency of an open pipe is directly proportional to the speed
of sound wave and with increase in temperature, the speed of sound waves

ncreases,

a) (A) and (R) both are correct and (R) is correct explanation of (A).

(
(b)  (A) and (R) both are correct and (R) is not correct explanation of (A).
(¢) (A)is true but (R) is false.

(

d) (A) is false but (R) is true.
(1) (b)
(2) f(a
3) (©
4)  (d)

= < o 53 T ¥, U RO (A) T TH F heR (R) FE T B A 5 T % i werma § w9

Wﬂﬁm:

ST (A) : Il 99 S B, UH G BT H Yo A g S

ek (R) : Tordlt Ged a9 1 Hol Mg eaf &l =ret & SFpRAdd gl @ q91 ard H gfg o |y eaf i
e oft et €1

(a) (A) @ (R) SHI ¢ & 91 (R), (A) 1 HEl =A@ 3 ©

(b) (A) @1 (R) EFI §ed € 991 (R), (A) T T&l SARST & Hdl €

(€) (A) ¥ 2 W] (R) 37HA §

(d) (A) 58 & W (R) 94 ¢

(1) (b)
(2) (a)
(3) ()
(4) (d)
Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659
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Question ID:- 166

For the given segment of a circuit, match the following List - I and List - I for V 4p

10V
Ao—< {—A\WW\W—<—B
20
List - List - II
(A) Ifi=5A (p) Vap=10V
(B) Ifi=0A (@ Vap=0V
(C) Ifi=—5A (r) V,p=20V
(A) (B) (O
M @ @ ©
2 @ @ @
3 @© @ (@
4 @ @ @

3 o T R ¥ o, -1 A WL Vg % For e i -

10V
Ao—< —\WWW-—<——B
20
-1 Teit-11
(A) =fE i=5A (p)F (W 5 =10V
(B) M i=0A (@ Vap=0V
(©) dfg i=-5A (1) V,p=20V
(A) ®B) (©
0 ® @ O
2 @ ® O
3 O @ @
4 O P @
Options:-

«1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661
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Question ID:- 167

An electric dipole of dipole moment 2 x 108 Cm is placed in an uniform electric field of magnitude
6 x 10* N/C such that the axis of the dipole makes an angle of 30° with the direction of the field.
The magnitude of torque acting on the dipole is :

(1) 2%10~%Nm
(2) 4%x107%* Nm
(3) 6x10~% Nm
(4) 10.4x10~% Nm

2x10~8 Cm fgya =mgvi & el fagga fgya &1 6 x 10* N/C 9fgm & usaaH fagd &= # 59 yaR @
T % o Tgua =1 o1et & =1 foom | 307 &1 101 oM €1 9 YA T A Ser STl o6 ufiemr ¥ -
(1) 2x10~%Nm

(2) 4x10~4 Nm

(3) 6x10~*Nm

(4) 10.4x10~% Nm

Options:-

=1, Option ID :- 665,

= 2, Option ID :- 666,

= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Let ng, ny, ng and ny, be the refractive indices of crown glass for red, yellow, blue and violet

colours respectively., Which of the following sequence is correct ?
(1) ny<nzp<ng<ny

(2) ny<ny<ng<ng

(3) np<ny<ng<ny

(4)
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N, Ny, Ny 1 1y, T Hid o fTQ swAen: o, dier, fen oiX St 3 &% sqadaie & | fefafes w
T e a2

1) ny<n,<np<n
( \ R B N
2 ny<ny<n,<n
(2) ny<ny<ng<ng
(3) HR<DY<:I'1B< nv
(4)

4 np > Ny > Ng > Ny

Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

A particle moves with different uniform speeds v, 2v, 3v, . ., nv in equal intervals of time. The

average speed of particle over complete journey is :

nv

D

@ (n —21)v
(n+ 1)v

o B

(4) (m+1)v

TS &Y t GHY o HEE el § fafvs e 996 =906 v, 2v, 3v, .., nv H TIEE 8160 T Fego) |
@Wﬂﬁ’f%‘r

nv

1 -

) (n —21)\!
(n+ 1)v

gy S

(4) (n+1)v

Options:-

«1, Option ID :- 673,
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= 2, Option ID :- 674,
= 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170

—
A particle is projected with a velocity v in vertical direction from top of a tower 100 m high. The

_>
particle is 10m above top of tower at t=1s and 20m below top of tower at t=4s g is acceleration

— —
due to gravity. v and g are:

(1) v=15 ms~! upwards
g=10 ms~? downwards
(2) v=15 ms~! downwards
g=10 ms~2 downwards
(3) v=10 ms~ ! upwards
g=5 ms 2 downwards
(4) v=15 ms~! upwards

g=> ms 2 downwards

ot 100 m 3 T F rar  wk fie | 971 weater foon § yiifia frn s 1 fig t=1s W F

TG & 10 m ST R 99T t =45 W IR B R G 20m A9 ¥1 g o @O ¥ v &R E%‘:

(1) v=15ms~! IR &I AKX
g=10 ms—2 = &l AR

(2) v=15ms~! A9 =l 3R
g=ll}ms_2:ﬁ%ﬁ3ﬂ'{

(3) v=10ms~! TR FHl R
g=5ms_27-ﬁ%lﬁ3ﬁ(

(4) v=15ms~! TR F AR
g=5m5_2:ﬁ%5|ﬁ3ﬂ'{

Options:-

«1, Option ID :- 677,

= 2, Option ID :- 678,

« 3, Option ID :- 679,
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= 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

In figure, blocks A and B have masses 2M and M respectively. Block A lies on a rough horizonatal
surface (p, co-efficient of friction). The string connecting A and B is massless; inextensible. The

pulley too is massless and frictionless. An external force F is applied on A, and system moves with

a uniform speed. On reversing direction of F and reducing its magnitude to (%), the system

accelerates with block B moving downwards with acceleration a. The string remains taut a is:

F<Al
(1) 2-3
(20 (3-2
3 (2-3
(4 (B-2

o=t #, =6/ A 3R B & 299 %H9: 2M 3R M &€ | =6 A TYeL &fqsl 98 (. T99 ). A 3R B &l
e aTell SRI ZeHM-ed qu1 37 € | ToreAT off Zormm-ed aen g fEd 81 sefieh A W U 9l 9

F SR Srei & o FHehrt Uk TR eEmE e 9 i AT €1 F T e faradia e e e afem (E4)
T M W; e 9w SR i F0 gU Sl B %1 @0 a Y ed €1 SR 71 g8 Wl €1 a A

B

F<A]
() (-3
(2 (-2
(3 (-3
(4 (3-2
Options:-
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= 2, Option ID :- 682,
= 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

A particle of mass m at rest at t=0 is under the action of a force F varying with time. The
instantaneous power (=p) delivered to particle is
p=c g+ 1

where ¢ is a constant. F is proportional to :

M (35)
@ (%4)+1

3) n+2

4 n+1

t=0 T foRm o m o99[ &1 UF S U 999 & 919 =R 9 F & (@0q o &1 9o = 99 29 aet
deaIfore U (p) p=c t**+1 | Fefia =t i 81 =@ ¢ @ FodiE ¥ F e gererd 82

M (24)
2 (n4) +1

(3) n+2
(4 n+1
Options:-

«1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173
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A ball of mass 400 g is at rest. The ball starts moving under the action of an external force

1
(in newton) F=2 t> along x-axis. The work done on ball by applied force in time t=(3)3 sis :

(1) 4]
(2) 45]
3) 5]
4) 55]

400 g GFHM i U Tig forrd H § | 78 Uoh =l el F=2 £ (2 H) o YWd H -3 o 31fa i ureey

1
A | T I G 99T t=(3)3 s H g W frm e wE ;g ?

(1) 4]
(2) 45]
(3 5]
(4) 55]
Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

A thin uniform rod of mass M has a length 2 L. Two small solid spheres each of mass M, radius
R(<<L) are attached at the ends of the rod. The moment of inertia of system about an axis

perpendicular to length of rod at a distance (%) from one end is :

o (g (e

2) (g]m%r[%)mﬁ
@ (s (G
o (s + (e
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Rt el TR BT W EHE M 991 e 2 L8 1 M EeTaH 991 5 R(<<L) % & B el 98 %
PR mIe ™E ST F T FR T (L/2) o T TG HI waE F orEEd S8 & i e e

e
(1) E]MR2+G—3JML2
o (g (Zpuo
o [ (e
@ (ho + (T
Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
« 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Two spheres A and B have radii 2 R and 3 R, respectively. Each sphere has a charge Q=73 me, R.
The two are connected to one another via a battery as shown in figure. In equilibrium Q, and Qg

are tharges on A and B. We have (Q% ]
B

@—A—®

2V

(H 1

5 2
T
g M
(3 39
g ¥
4 37
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A 31 B 21 Tiel o I A9 2R SiR3 R § 1 TS T W AT Q=73 wey R €1 A A1 A6 TH T
H st 1 gofd o an w 92d | dafea fod 5 € ) sreesen § A iR B W

B——®

2V

Y FI: Q, I Q T [Q%B] o T 18 ?

(1) 1
y ¥
5 34
(") 39

39
@ 3
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

: . ; s : ., = K wen
A charged particle of mass m and charge q at origin of co-ordinates has a velocity § =V L It is

accelerated by a uniform electric field

— A
E=E j

extending from x=0 to x=L. For x > L ; there is a uniform magnetic field
— A
B =B i

Which one of the following statements is correct for motion of particle in region x > L ?
(1) Particle continues moving along X-axis.

(2) Particle moves in a circular path.

(3) Particle moves in a helix with axis of helix parallel to X-axis of radius [Eﬂ% v }
0o

(4) Particle moves in a helix having axis parallel to X-axis of radius [BULE " ]
0°0
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ﬁﬁﬁﬁ%wﬁgww;::amw&wqa@@aﬁﬁmww&ﬂ% = v i sﬁE=Eo ?-?4?
THGTH foEd &9 5 x=0 ¥ x=L 9% @[ fFw S €1 x> L % fou uw whaue ges &9

B =By i 81 & x> L ¥ fou, Frerfafas worl § @ % @ 1 9 §7
(1) YT X-378] % SFfe TIfd Yl &dr |
(2) RU U S Y R T A1 |

(3) W (Eo%ﬂv } e % o (Feferh) § wfa e & 0 2o =1 @18 X1 F guin 2
: 0

(4) EFUT(BO%V ]ﬁw%x-aa%maaa@%ﬁa@(gﬁﬁ%ﬁnﬁm%
0°0

Options:-

«1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

In a region of space there is a magnetic field

—3

N
B = (B + ax)i
By and o are positive constants. The blocks of copper and aluminum are separately vertically
suspended in a vertical position by massless strings attached to a rigid support, in this magnetic
field. Which one of the following statements is correct ?

M

(1) Copper and aluminum blocks move towards (_ i ) and (?) respectively.

"-\) and (_ ’;) respectively.

(2) Copper and aluminum blocks move towards ( i

(3) Both blocks move towards (_?)

(4) Both blocks move towards (+’;)
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forelt &5 H S 85 B = (By + ax)i ! By ¥R o ¥ Feartier €1 Rl v trem @ 9 g

Il g1 <h1a q1 Uefufa = <1 scflsh 39 Soehid &5 H JUh-Y2s v T § | FHefafed e 4 3
HiH 9 UF Tel & ?

(1) R e Rt st waw: (_5) qon (7)o emfow ofa w0 €
(2) ST e efuf sien wE: (?) 7en (_?)?‘ﬁaﬁl‘f{wnﬁiwﬁl
@) 2t st (L)) % smfew oA E

(4) SHI =R (+?) % orgfew nfa & ¥

Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178
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Fig shows X-Y plane divided into three regions I, Il and III. There is no magnetic field in regions I
and IIL. There is a uniform magnetic field _]Er,> = BE in region II. POQRS is a square coil of side [. At

- ~
t=0; end P of coil is at (—L, 0) and coil starts moving with a constant velocity v=vi. g is
instantaneous induced e.m.f in coil. € vs x graph is :
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Response Sheet
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Options:-

v

Response Sheet

«1, Option ID :- 709, L
*(2) Option ID - 710,
. 3, Option ID &711;

= 4, Option ID :- 712,
Answer Given:- 4,

Option ID : -712

3L 4L

Question ID:- 179

IO
A

—
)
F—

~
-

L P
il Sy
ekt L
R =5

.....

LiG=LGC 5 Ry=R,
L,Cy> 1,Gy s Ry > Ry
LiG>LG R <R,

L i
C]. CZ

Ly —C;—R, is a series circuit having an A.C. of r.m.s value E, and variable frequency (v)connected
across. L, —C, — R, is a second series circuit having an A.C. of rm.s value E, (>E,) and variable
frequency connected across. Figure shows curves I and II for the two circuits, giving a plot of
amplitude of current (1) in circuit versus v. Which of the followings is correct ?
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Yftardt A v 3R E, r.m.s H9 i TemEd 819 % 9R{d: T Ly — C, — R, &vithn uitay §4ifsa €1 afterdi
Sgfd 99 E, (>E,) r.m.s W 1 Tomedl ¥ o Se1 Uk gE Siishd 9t L,—C,—R, &1 = | <
T sk 1 AR S gl | fer, mn = ram (1) =5 g v < |y famem e w8 ) Feffed |
%A HHEI © ?

(1) L]C.1=L2C:._ X R1=R2
@ LI,62L6 R>R,
(3 LiG>LGIiR <R,
L L
S I =

B B e iRy =Ry
Options:-

«1, Option ID :- 713,

= 2, Option ID :- 714,

= 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180
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R 2R
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E, sin wt

Figure shows an A.C circuit. P, is power consumed in circuit. Resistance R is replaced by an

inductor of reactance R. The power consumed in circuit is P2 . [ 1 P 152
2]

(1)
(2)

(
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R 2R
—— ANMAM——ANAA—
S
E, sin ot
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% : fesgn (B 2
e 3 e | T S W S T Py E [/Pz]mrrﬁ%
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Options:-

=1, Option ID :- 717,
= 2, Option ID :- 718,
= 3, Option ID :- 719,
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= 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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